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Note: This is being typed piecemeal in 2012 from handwritten notes in a
red looseleaf marked 617 (1983) but may have originated in 1979

0.1 Introduction

I am, myself, an elementary particle physicist, and my interest in general
relativity has come from the growth of a field of quantum gravity. Because the
gravitational inderactions of reasonably small objects are so weak, quantum
gravity is a field almost entirely divorced from contact with reality in the
form of direct confrontation with experiment.

There are three areas of contact

1. In relativistic quantum mechanics, one usually formulates the physical
quantities in terms of fields. A field is a physical degree of freedom,
or variable, definded at each point of space and time. Classically we
are used to thinking of the electromagnetic fields that way. Quantum
mechanics associates particles with fields, so that E&M becomes the
mechanics of photons, and gravity the mechanics of gravitons. These
particles are then exchanged between other particles. The virtual par-
ticles may have any momentum and energy, and if one then sums up
the contribution of all the low energy virtual particles one can repro-
duce Maxwell’s and Einstein’s laws. But the high energy contributions
formally give divergent integrals, that is, they make the answers infin-
ity times some function of the charge or the gravitational coupling con-
stant. For Maxwell’s theory, one can show that this infinity is unphyical
in the sense that it arises only when writing the effect of interchanging
photons in terms of the charge an electron would have had there been
no photon interchange. Wehn on compares physical observables, there
is no infinite constant. Now this is not true if one asks, for example,
what the gravitational attraction between two electrons is. One finds,
formally, that the force between two electrons nearly at rest is

N Gm?

r2

F

Gm?

(1 + o X 00X f(r)+ O(GmQ/hcf)
c

so ignoring the second term is what any sensible person would do.

Nonetheless the oo is bothersome to the pure of heart, and thus at-

tempts at understanding why it must not really be there has led to

much work on the consistancy of quantum gravity.
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2. An intellectual difficulty exists in discussing the quantum mechanics of

a particle near the Schwarzschild radius of a black hole. As we shall see,
classically there is a distance, called the Schwarzschild radius, about
any point mass, within which the gravitational field is so strong that
nothing can get out. Quantum mechanics introduces in uncertainty
in the position of such a particle, and therefore permits it, with some
small probability, to tunnel out of the hole. Extremely interesting work
of Hawking et all has created interest in this overlap region of quantum
mechanics and general relativity.

. The most recent advances in elementary particle physics have shown or

at least strongly suggest that two of th fours undamental forces of the
universe, the weak and the strong forces, are to be understood in terms
of a gauge field theory. Another of the four forces, electromagnetism,
has long been known to be a gauge theory. Furthermore, it is now fairly
clear that electromagnetism and the weak interactions are really differ-
ent manifestations of a unified gauge theory. Now the last of the four
forces is gravity, and Einstein’s theory is a sort of gauge theory, no in
the same sense as the others, but partially so. This suggests that there
might be a unified theory in which gravitons, photons, the intermediate
vector boson which carry the weak interactions, and the gluons which
carry the strong interactions, are all united into different states, related
by symmetries, of the same particle. Such a theory is also pointed to by
a form of theory dreamt up by particle theorists which considers par-
ticles called fermions (such as electrons and quarks) to be related by a
symmetry to particles called bosons (such as photons, gravitons, etc..)
It is thus conceivable that all of the particles we consider to be fun-
damental ar but different views of the same underlying object. These
theories, known as supergravity, have one amazing extra attaction. In
the expression

F
he

r2

~ Gm? <1 + Gm? x oo X f(r)+ (GmQ/hc)Zg(r) + (’)(GmQ/hc)?’) ,

one finds f(r) = g(r) = 0, eliminating at least the first two oc’s which
any other field theory of gravity with electrons gives. Needless to say,
supergravity theories have been a subject of a great deal of effort. It is
also how I got seriously interested in gravity.
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We will not be discussing any of these topics in this course, at least not
seriously. We will be developing only the classical theory and we will treat
things other than gravity aas being completely different from gravity. We
will not slight the geometrical interpretation of Einstein’s equation. We will
also discuss the observable tests, both the classical three tests (bending of
light, presession of the perihelion of Mercury, and the gravitational red shift
of light) and others. These tests all involve very small effects in the weak
gravitational fields which we have available in our vacinity, the solar system.
But there are important consequences of the theory where fields are strong.
We shall find that solutions of the equations lead to fantastic predictions,
namely

1. that the universe began with an explosion from an instance when its
dimensions were zero.

2. that it may, depending on how much mass there is in it, collapse again
to a point, burning everything in the universe to an elemental fireball.

3. that there most likely exist smaller objects, black holes, which have
collapsed to a point. Anything getting sufficiently close to such an
object is irrevokably drawn in to the singularity, and no message from
within this radius can ever get out.

4. there may be multiple universes, connected only by such black holes,
where an observer in one universe can find out about events in the
other only after he has fallen into the black hole.

A very different introduction to general relativity is given in the opening
chapters of each of the texts. Please read Chapter 1 on MTW, but not
terribly carefully. If you find that he hasn’t really defined things so you
have a firm grasp on it, don’t worry. This is a general flaw in the book but
especially in the first chapter — we will come bake to the material of 1.6-1.7
and make sure tho define things. Another brief introduction to history is in
Weinberg Chapter 1 sections 2-3.



617: Last Latexed: November 19, 2015 at 11:03 7

0.2 Special Relativity

I am assuming that you have all learned special relativity in a previous course,
so that this is review.

Physics transpires in spacetime. We may describe an event in spacetime
by a set of coordinates x!, 22, 23, ¢, but it is the point of spacetime and not
the coordinates which has real physical meaning. A point in spacetime is
called an event, whether or not anything interesting happens there.

An observer is essentially a coordinate system for describing events. Con-
sider a particle (that is, an object of negligile spatial extension). It is asso-
ciated with a locus of events, of the form “particle was at spatial point
7 = (2%, 2?,2%) at time ¢t. [Notice the indices upstairs — this will be ex-
plained later). The locus of points is the world line of the particle 7(t), a
curve through 4 dimensional spacetime.

In special relativity we consider inertial observers in the absence of grav-
ity. They find that free particles, which have no forces acting on them, move
with constant velocity ¢ = di/dt. That this is possible is a law of physics,
as well as a constraint on permitted coordinate systems.

Another observer, say @, will
cover spacetime with another coor- eventpP
dinate system. The same points, or
events, in spacetime are described
by O as (z!,2% 23, t) and by O’ as
(/1,22 2’3 t), and as, at least in
some region of spacetime, the co-
ordinate quadripulates are in 1-1
correspondence with the events, we
have Z' = Z'(Z,t), t' = t'(Z,t).

Given one inertial observer O, and another inertial observer (', the re-
quirement that one can have free particles anywhere and that both O and
O’ agree they are free particles means that we may write O’ ’s coordinates
as inhomogeneous linear functions of O’s coordinates. Let us call 2° = ct,
where c¢ is the speed of light. then let greek indices range from 0 to 3.

o't = A rY + at (1)

Note the summation convention: indices occurring once upstairs and once
downstairs are implicitly summed over. If greek, Zg; if latin, Zi’. Einstein
said this was the “greatest contribution of my life”.
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The fundamental postulates which led Einstein to special relativity were

A) The laws of physics are the same in all inertial frames. All frames moving
with uniform velocity (without rotation) with respect to an inertial
frame are inertial.

B) The speed of light is a finite constant, ¢, with respect to an inertial
observer.

I assume you have gone through the arguments which then lead to the
Lorentz transformation. The usual sequence is

1. Lengths perpendicular to the relative motion are unchanged.

2. clocks appear to run slow by a factor of v = (1 —v2/¢2)™"/? for ob-
servers with respect to whom the clock is in motion with velocity v.
The time interval between two events measured by an inertial clock
present at both events is called the proper time

3. The length of measuring rods observed by someone moving with veloc-
ity v parallel to the rod is contracted by «y. the length of a rod in itw
own rest frame (i.e. by an observer at rest with respect to the rod) is
called the proper length.

What emerges from these considerations is that inertial reference frames
are interrelated by Poincaré transformations (1) where

-1 0 0 0
0 1 0 0

L AV —
n#VA pA o npaa 77 - 0 0 1 0
0 0 0 1

7 is called the Lorentz metric, and we talk about the lengths of intervals as
(AT)2 = Nzt AzY,

despite the fact that it is not positive definite.
The Poincaré tranformations form a group! . That is, if g; : 2# — 2/# =
AP + U and gy 2™ — 2"H = A 2"V + b, then

G291 =92 O g1 :x — 2"

Define a group: a set G of elements with product rule such that
Vg1 € G,g2 € G,q192 € G
Jee GoVge Geg=yg
Vg1 € G,3g2 € G > gag1 = €.



617: Last Latexed: November 19, 2015 at 11:03 9

is also a Poincaré tranformation. Also every Poincaré transformation has its
inverse.

The Poincaré transformations be thought of as consisting of two types.
One is translations: z'# = z* + a*, which correspond to simply moving
the origin of the coordinate system (in both Z and ¢) by —b#. The second
ingredient is the Lorentz transformation a’# = A* x¥, which leaves the origin
unchanged but “rotates” the z”. We see that

/ v v .o __ o
et = A“p:rp Nuw N 27 = 21,527,

so A is a transformation which preserves the lengths of z#. For intervals Az,
the a terms cancel, so the entire Poincaré group leaves invariant the lengths
of intervals

(AT)? = n, Az* Az, (2)

The Lorentz transformations themselves can be thought of three-dimensionally
in terms of two types:

e rotations in 3 dimensional space, (Z')" = R;(Z)’, t' = t, and

v  vfe 0 0
e Boosts with a velocity ¢. In particular for ' || z, A = ’W())/C g (1) 8
0 0 0 1

Example: Let O have a coo-coo clock. The n’th coo-cooing is an event
which occurs at Z =0, t = n hours. ' sees the coo-cooing at
/ n
¥ = cyfn=vyn

The successive coo-coo’s occur v > 1 hours apart and the coo-coo appears
slow. Tt is also moving at a velocity vy/vy = v which defines v.

This time dilation of moving clocks is not to be confused with another
effect, the apparent change of freuency of coo-coos due to the time it takes
the light to get to the observer. Let the coo-coo wear a miners cap, pointed
back at O'. The coo=coo pops out at t' = yn at &’ = vyn, but O does
not see this popping out until the light finally reaches him, after travelling a
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time 2’/c = [yn back to the origin. Thus the n’th coo-coo becomes visible

at time
, 1+ B 144

vis = 7+ Byn = —1_5271* 1_571

and the frequency of coo-cooing in dimished to

1 1-p
CAY.. V148

vis

f I

This is called the relativistic Doppler shift or red shift, because for visible
light lowering the frequency means shifting the color of the light towards the
red. If B < 0, we have a blue shift. These words are used to describe lowering
and raising the frequency regardless of what type of frequency in involved
(redshifted ultraviolet light may be made blue!)

In nonrelativistic mechanics F = m%f. This relation should still be true
in the limit that velocities are small, ¥ — 0. We parameterize the world line
of the particle z#(7) with the parameter (dr)* = —n,, da*dz” = Adt* — dz?
for massive particles moving slower than the speed of light. Then in the rest
frame of the particle 7 = ct, so we may extend the definition of the force to
o, A2t d dx*

= mc—ut ut

dr? dr ¢ dr

F* =mc

this F' will therefore transform under Poincaré transformations exactly like
Ax*, which makes it a “contravariant vector”

F't = A" F”.

[Better: The 4 velocity is defined by m# = c‘ﬁ”—:. If v < ¢, AT = cdt, so
uw =7, u’ = c. In any case, u'n,u’ = ¢ (—c*dt* + da?) /dr* = 2. So
= mutn,u’ =0 = u'n, F"]

Notice in nonrelativistic mechanics there is no analogue of F°, so when
u=(1,0,0,0), F = (O,ﬁ). that is, in the rest frame u - Fu*n,,u” = 0, and
the dot product of two vectors is invariant, so it must be true in all frames.

Let P* = mcd;: = mu®. Then in the absence of a force, P“ is a con-
stant. That makes it seem to be the momentum. In fact, for small v,
P = m7, PY = mc + tmuv?/c = E/c, where E includes not only the
kinetic energy ~ %va but also the rest energy mc?.
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Notice that our m is an invariant. It is what is called the “rest mass” as
opposed to the “relativistic mass”, a concept which we will avoid, although
it is often used in freshman courses.

dz*\* (),
dr ) ¢ (dr)? '

: 2 v
Notice u* = u'n,,u” = (c

E2
P? = Py, P" = m*u® = —m?*c® = ) +p2.

These ¢’s are becoming very tedious, and we shall do as all realtivists do, set
¢ = 1 by appropriate choice of units (measure distance in light-seconds or
time in centimeters). Then E? = p? + m?.

Charge currents and densities:
Consider a collection of charged point particles of charges ¢, and positions
x#(t). The charge density is clearly

p(Z,t) =D ub*(F — Tn(t))

Current is a rate of flow of charge past a given plane, and can be seen to be
the density times velocity for a uniformly moving body, in an argument you
have probably seen several times before in E&M or thermal. Thus

J@,1) = 3 ud (& — F(1)) T
To make four dimensional, let z#(\) be the world line in terms of an

arbitray parameter A. Define

dx#

/dAan 2 — 2 (V)

If A = t for each world line, clearly this reduces to the previous defini-
tions. Furthermore the definition is independent of the parameterization, for
if Z(\) = z()),

/d/\54x g /d)\64x — (V).

The Dirac delta §* is unchanged under z# — A* z¥, x# — A z¥ so J is
a contravariant vector.
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In nonrelativistic physics, we learn the conservation equation in the form
> Op aJ*
VJ+ 2= =0, or ¥ — = 0. To verify that,
ot ; Db Y

dzt

p ") = [ 3 Y, [54 ()| -

d ., Cdar(\) 0
Now —=0*(z = 2(X)) = “EZ 8 (@ = 2,(V)
B dx“(A) 0

SO

gk dp —
axﬂj /d)\ (; 4n0* (x — (A >
A=+o00
> 8- (N)[ =0
n
if we assume that particles start in the infinite past and end in the infinite
future, not now.

In general conserved quantities are equivalent to a divergenceless 4-current,
which is therefore often called a conserved current. The total charge for such
a quantity

t) = / d?’x‘t JO(#,t) satisfies
—constant

%: d%%ﬁ:—/d%ﬁf:—/dsmf
where S is a surface (at infinity) surrounding the volume over which we are
calculating the charge. If it is the total charge, the volume is all of space and
the surface is at infinity. We may assume, usually, that all physical events
are happening with some bounded region, (at least events which affect our
experiments) so we may assume J is zero as we go infinitely far away, and
then 22 =0, or Q) doesn’t change (is conserved).
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0.3 Electromagnetism

(Classically and in three dimensions, electromagnetism is described by electric
and magnetic fields interacting with charged particles. The laws of physics
are Maxwell’s equations:

V-E = p
L OE
B = =
V x atJrJ
V-B =0
. 0B
E = =
V x oy

and the Lorentz force on a charge:

F=Wy(iroxB).

Let us frist consider the latter equation acting on a particle with velocity
in the = direction. The rate of change of energy E is just the work done by
the electric field

dE  dP°

dat - dt
AP*  dt dP*  dP*
dr dr dat L at

IO = qEvy
J'=qEx

f? = qByy — qB.vy
f? = qB.y + qByuy

=qF - U= qFEv.

The 4-force f* =

Let us now view the same situation from the point of view of observer O
travelling with the particle. Then

SO = OO
_— o O O
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and

'Y= 4B = qEan = By (1 - vy = ¢,
[* = 4By —qBvy
f* = qBxy+qBuy

But the Lorentz law is also valid for (0’, who sees the particle as not having
any velocity, so f'' = qE,, f'* = qE,, f'® = qE., so we conclude that

E. = E
E, = Ey,y— By
E. = E.,y+ By

We see that E does not transform like a 4-vector, and in fact that F and B
are mixed up by the Lorentz transformation.

What sort of object could it be? A hint lies in thinking about the cross
product #x B. In three dimensions we may write (7' x B)' = €%, By, where
€% is defined as the totally antisymmetric object with €23 = 1, ¢9F = —¢i?k =
kit But in four dimensions a cross product in impossible because the
corresponding? € has 4 indices. So it might be better to define the magnetic
field as having two indices

—€

BY =é"*B,,  B7=-DB%",
and write (7 x B)! = BYv;. B is now an antisymmetric tensor, and
E, = E,y— B"vy
E. = E.,y+ B"vy.
Consider a tensor F*. It transforms the same way A* @ C" does,

ie. A=A AP f'm = A® NV FP. Then

F'% ~ A%g ("0 = (7140 — v7A1> ® (700 — v’yCl)

2Note added 1/31/12: The epsilon with three spatial indices transforms suitably as
a tensor with three indices under rotations, and is yet unchanged. The one with four
space-time indices transforms properly as a contravariant four-index tensor under Lorentz
transformations, yet is unchanged. But the three index epsilon is not invariant under
Lorentz transformations.
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~ 72F00 _ 1}72F01 _ 1}72F10 + U2,y2F11
F'OU o At = (,YAO _ v’yAl) ® (701 _ v'yCO)
~ 'yQFOl _ v'yZ FO0 4 F11> + vQ,YQFlo
F'92 o A0g (2 (7A0—07A1) ®’yC’2~7F02—v'yF12
F'8 ~ A0g 0= (,VAO _ U’}/A1> ® ,st N ’7F03 _ vvFl?’

Similarly

Froo ’y2F10 _ 7J72 (Foo + F11> + UQ,YQFOl
J oL 72F11 _ v72 <F01 + F10> + 0272F00
F/12 — ,_YFIQ _ U,YFOQ

F'i = F9 fori=23j=2,3

If the tensor is antisymmetric, this simplifies considerably:

F/Ol —_ ,72(1 o UQ)FOI — FOl
F102 — ’}/FOQ _ U’}/F12

F/12 _ ,_YFIQ _ U"/FOQ

F123 _ F23

which suggests
FU'=FE F2 =F

Yo

F% =B,

F12 — 312 — qu F13 _ Bl3 _ _By F23 — 323 _ Bm

Let us go back to the Lorentz force of general v,

; dﬁ - = —\ @ . .. i v
/= = (E+ix B) =q (FOmou’ + Finjgu®) = gF

dPO dEncr Yy - e d i, 0 v
[° = e =y = B U= P = gF
so in general
dpP* y
= D qF"'n,,u’.

15
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These 7’s are becoming a nuisance. We will define tensors with lower
indices. First, to make what we say now about special relativity relevant
later as well, call 1, = g,,, sometimes.

A, = guwA” for any vector
E" = guF™

FYo = g, e

F;w = gupguo—FpU

The notation implies the existance of a ¢g"”, with

-1 0 0 0
9ap = Gaud" gup => 9" gup = 0"5, " = 8 (1) ? 8
0 0 0 1
Notice A, B" = A"B,,, which we could write as a - B.
We can now write f* = arr = qF*"u,.

-
Remember that u - f = 07 Let’s check:

u - f = q FHV U, = O
antisymmetric symmetric

on interchange ., interchange

BV nv

where the (anti-) symmetry under p < v means it vanishes under the sym-
metric sum on p and v.

0

More notation: Oy = py The index is down because J,2" = 6;.

Well, that’s pretty nice: what about Maxwell’s laws? They involve deriva-
tives of F', so we first evaluate

GMF”O = fﬁ-ﬁzfp

4 0t
E gt 2
O E" + 8] ot

0, M — k9, BY = —J

SO O Fr = =J"

constitutes two of Maxwell’s equations. There remain

V-B=0,
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The first equation involves 0,B, = 0,BY*, so it appears to be totally anti-
symmetric in three indices. We have already discussed that in 4 dimensions
there is no fixed totally antisymmetric tensor in 3 indices but there is one
with 4,
€0123 = 1; Cuvpo = “Cuupc = “C€pvpuc = “Covpu-
[ Note: don’t we want the opposite choice of sign? Maybe not, this agrees
with MTW (3.50e)]
We can then form the object

0
oxP

The zeroth component is €g;jx0; % = €;;,0; B’*. Recall B* = ¥ B, so

2y = €uupe 0" F7 where 0" = %05 = n"*

=

€ijn B = €% By = 2B, so Zy=20;B; =2V -B =
N——

26¢
The spatial components are

Zi = empga"Fp” = Eiojkaonk + 2eij0k0jF0k

: 0B - -
=92 i B 42610, By, = 2 (5 v E) -
=0y 2B, i

Thus the last two of Maxwell’s equations are
€pvpe 0" F7.
This is sometimes written in an equivalent way:

IFP 4 PP 4 JVFP = .

Summary:
Jaz——ny FY— g Fii — dikp,
Lorentz force: fH= % = qF"u,,
Maxwell: €vpe 0" FP7 =0
O F" = —=J"

We will return to these equations when we learn to use differential forms.
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0.4 Stress-Energy Tensor

Recall that if a “charge” g, is associated with each particle n, we may define
a current

J(x) = /d)\an54 (x —x,(N)) dq:g)(\)\)'

such currents may be written for any property of the particles, not just the
electric charge. In particular, each particle has momentum p*, so we may
write

da” (A
T (& /d)\Zp“54 (& — 2n(N)) x;i ).

This object is called the stress-energy tensor. It is independent of the choice
of parameter \. Two special choices are

LA =t Tm(Zt) =5, pho (Z—T,(t)) = t') = 1. Thus
TH is the flux of momentum p* across a surface perpendicular to the j
direction, just as J is the curent per unit area across a boundary. The
components T"° are the density of the u component of momentum.

2. N=171,TW(x) = [dr ¥, 8z — xn(T))mn%zﬂ%zu In this form we see
that T" is symmetric under p < v. We also see that it is a tensor,
transforming like dz* ® dxz”.

Conservation:
8,1 (z) = Z/d)\pn dA aiufs‘*@fxn(x))
s = 20)
b (@ = V)

)\+oo

d
= ST 8 (2 — () A_7W+Z/d)\54 r— 2n(\) j;

The first term is zero for any finite x assuming the particle go off to infinite
x, at least for 2¥, as A\ — 4o00. In the second term we can take \ = ¢, so it
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d,
reduces to Z 83 (7 — T, (1)) CZ" Thus
——
I
dT
9, T" (z) = 8 (7 -7 —f
() =2 )

If the particles are free, f = 0. Even if they interact at a point,

dr, d
[0 norp el 3
OB RS S
T=Tn F\ dP‘: tiny:nrcgltzgicles
==

“dt

We expect the total momentum of the colliding particles to be conserved, so
d _
2 Pt =0,and

0,T" (z) = 0.

When is it not zero?
1. If theres is an external field influencing p,,
2. if the particles interact at a distance.

Action at a distance would not conserve T*” because momentum is then

transferred out of a region without any physical flow of momentum through
the walls of the region. While this is allowed by Newton’s laws and required
by his formulation of gravity (the forces act instantanteously) this notion vi-
olates relativity. Consider two masses at rest. Move #1 up.
Newton’s law of gravity, or Coulomb’s law, would tell you  #1 #
that particle #2 immediately feels a change in the direction of the force,
hence carrying a signal faster than light can travel. We know that this is
not true. In electromagnetism, other forces, due to the moving charges and
radiating fields, cancel the effect of the change from Coulomb’s law. In fact,
we know it is better to think of one charge as producing the field, changes
in which can propageat only at the velocity of light, and the other charge
sensing the force locally through the field.

We will assume there are no actiona at a distance mechanisms in physics,
and all forces apparently such are in fact conveyed by a field. We have sofar
discussed the energy momentum only of the particles, no including the energy
and momentum of the field.
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To see how to add this in, consider electromagnetism,

0 ngrtlcles(aj) = Z 0% (= Zu(1)) dt (

=Ty

= 3 g8 (7 — Zu(1)) F“p(xn)j = F* () J* ().

[Note the order of indices is important, F* # F, "]
What should the stress-energy tensor of teh electromagnetic field itself
be? The energy density is®

TOO:E

1 1
E2 BQ — _FOZFOZ _FY R
2 ( * ) 2 * 4 ’

and the energy flux is
0i i 2 7 0j fi
T% = §' = (Ex B) = FYF,

This hints that T should be quadratic in F', and depend on nothing else
(except, of course, the constant matrices n and e. Considering Lorentz co-
variance and symmetries, the only possibilities are

W PR 4 by PP,
but then T% = o % F% + 20 F% — bF" F;, so we must have b = —1/4, a+
2b=1/2,s0 a =1,

17 12 1 17
quaxwell - FupF p 177” FPUFPO"
We see that

Maxwell

1
0Tl v = (O,F") FY, = F'J, — Sif"F*0,F,,

1
—FHJ, + Fyg {WFW - 56”Fﬂ :

Note that only the part of the bracket antisymmetric under « <+ § survives
contracting with F3, so

1 1 1
R e A U {0°F 4 00 Fre 4 0# PP} = 0

| —

3We are using units with pg = ¢o = 1.
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by the first Maxwell equation, €,,,,0" F'*° = 0.
Therefore

QT = —F"J, and,if TH =T  +TW 9,1 =0 |

Maxwell particles Maxwell ?

Another property carried by a particle is its angular momentum about a
given poin. Ignoring any contributions from intrinsic spin, L = Z,, X p,,. The
3-current of such an object might then be expected to be

k
M (z) = > (:E;pfl — mﬁlpfl) 8 (x —1y,) % = 2" T (z) — 29T ().

To make 4-dimensional we simply define
M*P () = 2" TP (x) — 2" T (x),
and

O, M0 = §UT 4 g §, T —§UTH — ¥ 9, T = T — T" =
T T

as T'is symmetric. Thus M** corresponds to a conserved quantity, assuming
T falls off sufficiently fast at co. We have already implied that

JU(t) = /d?’x/\/lijo = angular momentum.
We also have
J(t) = /d3:(: (tTkO - kaoo) = tph — /J;kTOOd3J).

ke [ aF T3

Note the energy-weighted center of mass: T 7 , SO

J* =t —7*E = ¢ (a’:k — v’%) ,
where v¥ = p*/E. Thus the conservation of J% along with §and F, indicates

that
z*(t) = const + v,
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or the center of energy moves with a velocity given by the usual formula in
terms of the total momentum and energy.

M is not truly a tensor because it varies under translations, as does J.
A translation-invariant object may be formed from J, M? = —p“p,:

1
Wy = MS, = §eam5ﬂhpé,

which is the spin. As J and p are conserved if there are no external forces,
so are M and S,. M is the total mass of the system, which we can see, is
just the integrated energy density in the inertial coordinate system in which
p=0. S is the spin. It is invariant under a translation z — = + a,

JH — Sin(l‘ + a)uTVO o (.I + a)VTuO — Jmuv + aupu o aupu,

1
MSo = Séaps (J79 + aBp” + anp”) p° = MS,

because €q3,5p"p° = 0.

Thus S transforms like a vector. It corresponds to the spin of the system,
that is, the angular momentum in the rest frame. We would expect it to
have only three components, and indeed it satisfies te constraint p*S, =
%Mﬁlea@wﬂhpo‘p‘; = 0.

Any isolated system has a definite value of the two scalar quantities N>
and W? (and, if M? # 0,5% = W?/M?) which are invariants under Lorentz
transformations. These play a fundamental role in classifying the possible
forms of quantum fields. Because spin is quantized, S* = n(n + 1)/‘12 after
quantization, and fields must transform as some representation of the Lorentz
group.

We will return to the ideal gas after we discuss 7" as a form. I do
not think we will discuss imperfect fluids and the rest of Chapter 1. (of
Weinberg?)
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0.5 Equivalence Principle

I am anxious to get into general relativity. We will follow the motivation
of Einstein, who was clearly led to his conception of general relativity by
analogy with his success in special relativity. Let us examine the beginning
of his first paper on relativity:

On the Electrodynamics of Moving Bodies
by A. Einstein

It is known that Maxwell’s electrodynamics—as usually under-
stood at the present time—when applied to moving bodies, leads to
asymmetries which do not appear to be inherent in the phenomena.
Take, for example, the reciprocal electrodynamic action of a magnet
and a conductor. The observable phenomenon here depends only on
the relative motion of the conductor and the magnet, whereas the
customary view draws a sharp distinction between the two cases in
which either the one or the other of these bodies is in motion. For if
the magnet is in motion and the con- ductor at rest, there arises in the
neighbourhood of the magnet an electric field with a certain definite
energy, producing a current at the places where parts of the conduc-
tor are situated. But if the magnet is stationary and the conductor in
motion, no electric field arises in the neigbhbourhood of the magnet.
In the conductor, however, we find an electromotive force, to which in
itself there is no corresponding energy, but which gives rise—assuming
equality of relative motion in the two cases discussed—to electric cur-
rents of the same path and intensity as those produced by the electric
forces in the former case.

Examples of this sort, together with the unsuccessful attempts
to discover any motion of the earth relatively to the “light medium,”
suggest that the phenomena of electrodynamics as well as of mechanics
possess no properties corresponding to the idea of absolute rest.

Now in special relativity we restrict our attention to inertial frames. Con-
sider the mechanics of a physicist in a closed room, which is accelerating at
a constant acceleration a. From the special relativity approach we situate
ourselves, O in an inertial frame with reapect to which he (O’) has velocity
v at a given instant. If we restrict ourselves to an interval over shich v is
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o = d*T; : :
small, we find every object in his room obeys F; = m dt; = ma;. Using his
coordinates we find @ = @; — a, so

—/ wparn — — ~ o
ma; = “F;" = ma; —ma = F; — ma.

If the observer in the box tries to use Newton’s laws, he looks for the physical
origin of the force F '. But the objects which are interacting with the observed
object generate only the force F‘i, and he must postualte a pseudoforce —ma
due to no definable other object. If he wishes to consclude that he must
be accelerating, he must exclude the possibility that this force is due to
some other object from outside. Perhaps he reasons: all other forces depend
on positions, charges, and other variables of the material. But this excess
force is always proportional to the mass, exactly as it would be if I were
accelerating. Therefore I conclude that there are no outside influences, but
I am accelerating with respect to an inertial frame.

But would he not observe exactly the same physics within his box if
it was simply sitting on the surface of a large planet? Each object within
the box would experience an extra force mg downwards, so that the situation
wouldbe indestinguiishable from a box accelerating with a = ¢ in the opposite
direction.

Now you should argue that the way real forces are distinguished from
pseudoforces is that they depend on some property of the object, such as
charge, rather than being proportional to the inertial mass. Perhaps the
gravitational mass in W = myg is not exactly the same as the inertial mass
my. Any relativity book will tell you of the ingeneous experiments which
attempt to find a variation in my/m; = 1+ ¢ and show that || < 1072, So
the masses appear to be equal. This equaltiy is so accurately known that it
rules out possibilities like leaving out from m,

e the binding energy of an atom, ~ 10~% in hydrogen
e the Lamb shift energy, 4 x 10712 in hydrogen, more in otehr atoms.

So once again we have a situation with two different explanations of the
same observations depending on coordinate system. Once again Einstein
reaise the equivalence under certain conditions to a fundamental postulate,
called the principle of equivalence.

Before we get too carried away, we must examin more carefully waht this
equivalence is. In the box on the surface of the Earth, the objects do not
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really all accelerate the same, because different points are different distances
away from the enter of the Earth, and the accelerations are all pointing
towards the center of the Earth, and are therefore not exactly parallel to
each other. If the coordinates are z°, we will find

where 0 is within the box, and we will think of the box’s extent (range of ¥ ) as
small compared to the variation scale of a (that is, a/9d;a). The a*(0) term is
the same for all particles in the box, and can be considered a pseudoforce due
to accelteration of the box. But the second term, which gives the variation of
the accelerations, is a detectale effect, driving objects towards the floor and
foof and in from the sides of a satellite in free fall. These are called tidal
forces. So we cannot say that all gravitational forces are pseudoforces, but
only that the gravitational force at any particular point may be considered
a pseudoforce.

In the absence of gravity, the equations of motion are fiven by the laws of
special relativity, together with whatever the relevant mechanics of the mat-
ter is. By the equivalence principle, if we can set up a coordinate system in
which there are no gravitational forces, then physics obeys special relativistic
laws in that coordinate system. In other coordinate systems, we must expect
physics to be wierd.

We all knw that if you try to describe mechanics from an accelerating
frame there are strange forces. For example, in a rotating system there are
centrifugal and Coriolus forces. But there is worse.

Consider* a rotating table, and let observers moving with the table at-

4Reference: Feynman, Lectures in Physics II, chapter 42.
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tempt to draw a triangle. They draw
straight lines from A to B, etc.. What
does straight line mean? The shortest dis-
tance between two points. So they draw
tow paths as shown. The red line looks
straight to us, but when they go to com-
pare the lengths, they find it is longer. A
Why? According to us, not rotating, their

metersticks shrink increasingly as they go

away from the center, especially when held

tangentially, so they are measuring the red ¢

line with shrunken metersticks, and more
of them fit along that line than along the one that appears curved to us. If

they do the same between B and C', and between C' and A, and measure
the angles, they will find the sum of the angles of their triangle is less than
180°! Geometry is not Euclidian or Lorentz when observed in an accelerating
coordinate system.

Let us return to our box which may be accelerating through empty space
or may be sitting on the surface of a large planet, with no way for us to tell
which. A photon comes through a one-way window anc crosses the box. If
we are an accelerating spaceship, in an inertial observer looking in sees the
photon moving in a straight line, as would any other free particle, while our
box accelerates upwards with acceleration g. Therefore to an observer with
coordinates fixed in teh box, the photon falls with the same accelertation g
as all other particles. This requires that light is bent in a gravitational field,
so that, for example, star light passign the sun should be bent inwards, and
stars observed on opposite sides of the sun during a solar eclipse appeart to
be further appart than usual. We will return to this later, as if we did the
calculation no we would get the wrong answer by a factor of two.

Another conclusion we may reach is even more startling, though not quite
so simple. Suppose we have two clocks, one at the top of the spaceship-box
and one at the bottom, a distance h apart. Let us observe with an inertial
observer O, at a time when the velocity of the ship is small. If the bottom
clock emits a flash of light when v = 0, it will not be received by the top
clock until time h/c = h, at which time the clock will be moving away from
the source at v = ah. The light will therefore be red-shifted by

1—ah
ftop = fbottom 1+ ah ~ Ibottom (1 — ah).
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Similarly if the clock on top emits a flash when v = 0, the bottom one
will receive it at time h, at which time it is moving twoards the source at
velocity ah, and the light is blue-shifted

1+ah
foottom = ftop 1—ah ~ ftop (1+ah).

This agrees with the previous equation, and both observrs wagree that the
frequency of ticks of the bottom clock is lower than that of the top, or the
higher clock is running faster!

Now suppose our box is not a spaceship but the Empire State Building.
Einstein says physics is the same, and the executives at the top are ageing
faster than the receptionist on the first floor, at a rate 1+ gh = 1 + gh/c?
faster, which makes them about 1 us older for each year they worked.

Although this effect is probably not the correct ex-
planation of their gray hair, it does lead us to an T
interesting conclusion: spacetime as measured on E
a planet’s surface is not Minkowskian!. If the re-
ceptionist emits light rays one second apart, each
travels up the Minkowski diagram at 45°, forming T
a parallelogram, but Tg > Tkg. R

h

This was presaged by our discussion of the turntable: accelerated ob-
servers do not see Minkowskian geometry. Any hope for Minkowskian ge-
ometry can only be for an inertial observer who feels no gravity. Given any
particular evernt we can alsways find such an observer by letting hime free-
fall, but in his coordinate system gvarity vanishes only in the neighborhood of
the chosen event. There is no way to set up a global coordinate system which
in inertial, so there is no way to treat the global geometry as Minkowskian.
We are goint to have to learn how to talk about curved spacetime.
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0.6 Manifolds

We have seen that the spacetime in which physics acts is a curved space
which can be considered flat (Minkowskian) in a small neighborhood at each
point but cannot be considered flat globally®. In each region, I can find a
coordinate system x* which is in 1 — 1 correspondence witht he spacetime
in that region. Such a 1 — 1 map from a region of spacetimes to an open
subset of R* is called a chart. There is not necessarily a single chart which
can cover the whole spacetime.

Example: The surface of a sphere. About any point, say Piscataway, I
can erect a two-dimensional coordinate system and plot the corresponding
point on my chart. Charts prepared by AAA and the like are usually called
maps, but in math a map is a more general concept, so we revert to the
older word chart. No chart can be prepared to cover the whole surface of
the Earth.

Two coordinate systems set up to cover overlapping regions in spacetime
produce a 1 — 1 map between the two charts in R*. If these maps are con-
tinuous with continuous n’th derivatives it is called a C™. If it is C™ for
every n,m it is called C'(*).

A set M, in our case spacetime, together with a set of charts, called an
atlas is called a C™ manifold it

e cvery point of M is included in an open set in some chart.

e For every pair of charts with overlapping domains, the map induced
between the images of teh overlapping region is a C'™ map.

Sometimes the set M itslef is called the manifold, but the existance of the
atlas is necessary.

Example: The surface of the world and the Rand McNally World Atlas.
A simpler atlas would consist of a chart of everything above 10° S latitude to-
gether with a chart of everythin in the southern hemisphere. [I am assuming
there are no overhanging cliffs in the world].

To do physics, of course, one needs more than spacetime. One also needs
physical quantities defined over spacetime (fields).

5Refs: more formal— Chapter 2 of Hawking and Ellis, Large Scale Structure of Space-
Time. Less formal— Misner Thorne and Wheeler, chapter 2.
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A map from spacetime into the reals, for
example, the temperature in a continuous
medium, induces a map from the charts
(actually the range of the charts) into the
reals. The physics is in the function f, but _

that is hard to write down. fc is a function ©

R* — R, easy to work with, but chart de- fC(X“)
pendent. A different chart will correspond f=f,c]
to a different fc, even though the physics, ¢
f is the same

9o ling f

chartC

We now want to include vectors. We are used to thinking of a vector as
an object unchanged by translations, and being a vector in a mathematical
sense, that is, taking linear combinations, etc..

In special relativity the difference of two points is a vector. But what

does the difference of two points in a curved spacetime mean? I can subtract
in R™, but not in M.
Consider three points, A, B, and D, in M,
which map into three points in in R". If
Ax = B'— A" and D' — A" = 2Ax, does
that mean D — A is twice B — A? Not at
all, for such a statement depends on the
chart C as well as any physical properties
of the events A, B, and D. and D' — A’ =
2(B' — A’) will not be true for some other
chart, or choice of coordinates.

Thus we cannot define vectors as finite differences of positions on a mani-
fold. But if we consider infinitesimal neighborhoods this problem disappears.
At a given point X, we may associate a vector with a direction and a mag-
nitude which relate to a curve passing through the point at a given rate in
terms of some parameter. The way to formalize this is to treat f vector as an
operator on all differentiable functions, which maps the function into its di-

rectional derivative. Thus if the curve is charted as x*(\), the corresponding
oz afc

vector v(f) = ——— ", with summation over y understood. Notice that

" 0N Qv
a) The action of v is independent of the chart.

b) v is a simple mathematical entity written without indices (though we
have evaluated it with coordinates).
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c) Given a particular chart C', 9/0z" = e, is a set of four different vectors
(not four components of one vector) which form a basis of the vector
space at the point X. Any other vector u = u*e,, where u* = 0z*/O\
are th compenents of the vector u in the basis e,. u is independent of
the chart chosen, but the u* are not.

It is important to keep in mind that in our definition, so far at least, the
vector is defined at a particular point X of the manifold. Its tail is tied down,
and there is no way (yet) to compare vectors defined at different points. The
(possibly four-dimensional) vector space is called the tangent space at the
point X.

Example: Consider a particle sensing a scalar field, for example temper-
ature. As the particle passes the point X, at what rate does its ambient
temperature change? Consider a chart. Then z#(7) is the image of its posi-
tion as a function of its proper time 7, and

ar oz 9l  Ox* (1)

_——- = —e "

dr or Ozt or
is the rate of change of temperature. This is true for any other scalar field
as well, so we have an operator

u: scalar field — proper time derivative of the field felt by a particle.

u is the 4-velocity of the particle! Its four components on a given chart is
what we used to call a 4-vector.

Mathematicians tell us, given two vector spaces, how to define the tensor
product, so there is nothing new in things like u® v. Such objects are called
contravariant tensors. Physically it will only be useful to consider such tensor
products of vectors defined at the same point.

Another mathematical concept which is straightforward is illustrated by
the metric tensor. How do we generalize the concept

(AT)? = (Azh)? 4+ (Az?)? 4+ (Az®)? — (AH)*??

As we have already understood the velocity, we reconsider the equation in
the form u®u’n,s = 1. This must be generalized, for if n always represents
the numerical matrix diag(—1,1,1,1), u*u’n,s has a value which depends
on the chart. We need some machine which maps two vectors into the reals.
Such a machine is called a covariant rank two tensor

g:u®v— R
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Suppose we have a Minkowskian chart, that is, a coordinate system in which
u“uPn.; = 1. Then in this chart I can define g acting on any two vectors
v =vte, and w = w'e, by

g(v,w) = v'w'n,,.

this defines a map from any two vectors in the tangent space at X into the
reals. Given any other chart C’, we will still find g(v, w) to be bilinear, but
with changed coefficients,

g(v,w) =v"u'""g,,
with the new metric g, in general not the fixed 17,
If u is a vector defined at X, and f is a function on M (at least in a
neighborhood of X), then u(f) is a real number which depends on

e u
e the rate of change of the function f at the point X.

We may view u(f) as a map, determined by f and X, from the tangent
space T, of all vectors at X into the reals. Obviously not all of f is used in
determining this map — it is independent of the actual value of f(X) and
of the values of f at other positions except insofar as they affect th rate of
change at X. The map is clearly linear on T},. Let us abstract from this the
concept of a 1-form at X: a linear map from Ty into the reals.

The space of 1-forms is made into a vector space in the obvious way,
(p1 + p2)(u) = pi(u) + p2(u). It is not terribly big, for any 1-form p(u) =
p(u(e,) = u'p(e,) =: utp,, so the form is determined by the four numbers
Py in the particular chart we used to define (e,). The space of 1-forms at X
is therefore four dimensional. To write out a basis of this space, define w*
to be a set of four distinct 1-forms with w*(e,) = 0%. Then p = p,w" for an
arbitrary 1-form p, where p, are the coefficients and w* the basis 1-forms.
The basis {w"} is said to be dual to the basis e, of 7.

Example: Define the 1-form df by df(u) = u(f) = v"0,f. Then using
df = (df)uwua df(u) = (df)uwy(u”eu) = (df)yu”, so (df), = 0, f. In this
chart we are therefore encouraged to call our basis 1-forms w* = dz*, so
df = (0,f)dz*, which is the usual expression for the differential.

We sometimes write a 1-form q action on a vector v as

(q,v) :=q(v).
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Vectors have been defined in terms of linear maps from the set of functions
on M into the reals, defined at a point P. 1-forms have been defined as maps
from the space Tp of these vectors into the reals. The vectors and the forms
are not dependent on the chart, but the bases we used to describe the set
of these vectors and forms are. Suppose we have charts C' and C’ with
= C(P), '* = C'(P). For an arbitrary scalar function on the manifold
f(P), we have fco(z#) = for(2'#). Let u = ute, = u'Fe, be an arbitray
vector at P. Then u(f) = u'e,(f) = u'0,fc|. = u'"e,(f) = u'"0, f(C")|w-

a /v a ,
But 0, fc(z) = aa;u . ai,cy B by the chain rule, so
or'"
— M / _ v o
u(f) = U 0xﬂ ) 8Vfc/|$/ =U ayfc/|x/
from which we conclude
. o'V }
= ut.
oxh

We say that the components of a vector transform as a contravariant vector.
Example: if 2 = A¥ 2" + a*, v’V = A” ,u", so a vector has components
which are also contravariant vectors in our old language.
Let q be a 1-form. Then

q(u) = qwt(u’e,) = qu”
ox'
_ / I v 'y . S v ] v
- qp,w (u el/) U =q 8.’17” u.
ox'
This must be true for any v” so ¢, = g, B
-I.l/
, ox'* Ox” X ,
Note that the chain rule guarantees o I 0, so we may invert
v Oz
this relation to get
,  Ozr”
q/" - ax/pqu'

Example. The inverse Lorentz transformation for x in terms of a’'z" =
AL H v v I (A v .
(A1) @ —a"),s0q, = ( )uq . .

From n#VAHpAVa = Npo» ﬂuuA”p = Npo (A7 ) L,y OT (A7 ) , = nHVA”p’r/pU =:

A7, q, = AH/Vq,,7 as expected for a covariant vector.
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Thus the compenents of a 1-form transform under change of basis, as a
covariant vector.

A physical example: The vave function for a particle of 4-momentum
pis f(x) oc ™ whether the particle is a quantum mechanical marble,
an electron, ore a photon. Let u be the 4-velocity of an observer. Then the
vave funtion at the observer’s position varies with an angular frequency (p, u)
which is therefore the energy of the particle.

An example from Misner, Thorne and Wheeler: To find the red shift of
a photon emitted from point F

on the rim of a turntable, and absorbed at A.

2nfg =p-ug, 2rfa=p-ua
In the inertial of the center, p - us = —puY +
|p]|vecus|sin@, p - ug = —p°u% + |pl|vecuy|sin b,

and || = wry = |da], u% = uY, so p-ugp = p-ua

and

fa = fg = there is no red shift!
A hidden assumption: The one form p at the event of emission £ is not,

a priori, related to the one form at A. Without defining it, we have made

use of the idea that p is constant throughout the relevant part of spacetime.

A collection of 1-forms defined at each point in spacetime is called a 1-
form field. A collection of of tangent vectors € Tp for each P is called a
vector field.

In special relativity we know that there is not a real diffeerence between
co- and contra-variant vectors — we must simply change some signs. Thus
we expect a 1-form and a vector to be similarly related. The relator is g, the
metric. Recall that g is a machine that maps two tangent vectors at P into
the reals,

g:Tp xTp — R, uxve guv).

Given a tangent vector u, the map
U:Tp — R, vi— U(v) :=g(u,v)
is a linear map from Tp — R, so it is a 1-form. If we have a Minkowskian

chart, g = n.dz® @ da?, U(v) = nesuv?, and U = n,gu*da’, or Us =
Nasu®, which is the expected relation in a Minkowski coordinate system. But
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we may relate the 1-form U to the vector u in any other chart as well. There,
as g = gapdr® ® da”, we have

Us = gapu®. (arbitrary frame)

Recall that we first made a 1-form by considering the differential of a
scalar field. Let us see what happens if we take the differential of a 1-form.
Let f = f,da" be a 1-form field defined over spacetime. Let us attempt to
define an object

g = I[de” ® dz* with I[/u/ = gf“
:L‘U

Let us evaluate JIf using another chart with coordinates z/#. Recall f; =
oz

az ™
(ﬂf> c’ = I[:wdx”/ ® dff,u with
’HW A &’E’/‘fp B &E’V&rwfp + ox'v ox'+" 77
/ v ox'* Ox'v .
dz'* @dz'"" = B B dar’” ® da®, .
T i
0xr . o

The last term is not zero, so we see that we have not obtained an object
which is chart invariant — it is not physical.

We could eliminate this miserable form if we defined our rank two tensor
JIf to be antisymmetric. We then call it df and write

af = (df),,da" ®da",

Ofu _ 0fy
h d = B _ .
where ( f);w B " Bon
Our chart change then gives
0%z %z

ox'vor'r  Ox'rdx'v

df)er = (df)e+ ( > fda'* @ da'",

=0 by antisymmetry
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so df is a chart-independent real physical object.
We may also write df = 0, f, (dz¥ ® da* — dz* ® dz”) and introduce
the wedge product notation

aANB=a®B-8BRa
for 1-forms a and 3, so
df =0, f,dx” A dat.

These objects are called 2-forms.
We can keep going: An n form can be made from n 1-forms «; by taking
the antisymmetric product

arhNao A Na =Y (1) 00 ® Qo) @ ... @ Qo)
o€Sh

where S, is the set of permutations on n elements (here 1,2,...n), and the
sign (—1)7 is +1 if ¢ is built of an even number of transpositions and —1 if
from an odd number. .
But remember that there are really only four independent 1-forms at a
point in spacetime, so antisymmetrizing in more than 4 indices gives 0.
Another description of an n form is with coefficients

1

W = =Wy A2 A2 A LA 2t
n

where the coefficient w,,, ;.. .., is antisymmetric in all its indices, and the 1/n!
cancels the fact that each de"' ®...®@dx#" occurs n! times in the sum. Thus
it can’t have more indices than there are dimensions. So for M spacetime, a
4-form is the highest we can go.

We have already defined the d operator on a scalar function (a 0-form)
and on a 1-form F = f,dz":

df = (0.f)dz"
dF = (0.f,)da" ANdz” = (df,) Adz”

1
More generally if ¢ = —'¢m...ﬂndx‘” A Adakn,
n!

1
do = ] (O uy o) da” Adatt A - A dat™.
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An example: Suppose we have a two form F = F),, da* @ dz” with F),, =
—F,

v

dF

1 1

d <§Fm,dx“ A dx”) = §8PFH,,dx” Adx A dx”
1

= 5 (801F57 + 85F7a -+ &YFa,g) dz? X dz* X dz”.

What would dF' = 0 say? 0o Fpy + 03F,a + 04 Fup = 0, which is just the way
we wrote two of Maxwell’s equations! Thus we see that the field strengths of
Maxwell is naturally implemented by a 2-form

1
F= §FW dz* A dx
which is why F),, is antisymmetric. And it is a closed two form
dF = 0.

An n-form w is defined to be closed if dw = 0.
Consider an n form w for n =0,1,.. .

1
W = W et A2 AL A e
1
dw = — (O p) A Ade™ Az AL Adat
ddw = ~| 29,0 dz” Adz”t Adzt A dzt? datn =
w = n! O Wuipg.pn | 9L~/ /\_/CC Az AT AL A AT =

symmetric antisymmetric

V1 ovg vievg

so ddw = 0 for any n-form w, and dw is always a closed (n + 1)-form.

An n-form which can be written as df for some (n — 1)-form f is called
exact. So every exact n-form is closed.
Theorem (Poincaré): Every closed n-form defined on a simply connected
convex region is exact.

Consequence 1: If F is the electromagnetic field strength 2-form, there
exists a 1-form A = A,dz" such that F = dA,

1
or §Fm,da,’" Ndz” = 0,A,dz" A da”
or F,dz" @dz” = (0,4, —0,A,)da" @ dz”
or F, = 0,A, —0/A,.
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Thus the existence of the electromagnetic “vector potential” is a consequence
of an extremely general theorem.

Consequence 2: A is not unique. For another A’ = A + dA, with A an
arbitrary function, gives the same F:

FF=dA'=dA+ddA=dA=F.
Written in terms of components,
AL =A,+9I,A.
This is known as a local gauge transformation.

A 2-form is designed to have vectors plugged in. If a particle of charge ¢
has 4-velocity u, what is

¢F(,u) = ¢F, (d2" @ dz") (,u) = ¢F,,dz" (dz"(u)) = ¢Fu’da” = f,dz”

where f, is the Lorentz force. Thus the 1-form
f = f,dz" = F(,u) is the Lorentz force law.

We have now discussed, as forms or tangent vectors, all of the objects
we were concerned with in special relativity, (u”, f., Fjuw, M), except for

J, and €u,,. If we have a Minkowskian chart, we know that defining
€uvpo :sign<2 i Z i) is a rank four tensor under proper Lorentz trans-

formations, even though its components do not change. That is to say,
€= € Aot @ dz” ® da’ ® da”

is a 4-form, and in a Minkowskian chart, €103 = 1, but this statement is not
chart independent. Recall from homework that

oz
eiwpg = det <—8:1:’5> €pvpos

ox®

da'B
in general, and €, ,, may no longer be considered a numerical tensor. This,
of course, is also true of g,,. For g we have

so that if z# are Minkowskian coordinates, €y53 = det . This is not 1

B oz 0z°

/
Gur = G e o0
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with z# Minkowskian. Notice that, considered as a matrix,

’ / 0z \1? 92\ 17
g = det (—glw> = |det P det (na5) = |det p ,

SO €193 = v/¢' in any coordinate system.

Duality: ~ We have already seen that the metric g permits making a 1-form
out of a vector. We will insist always that g,z be invertible (g # 0) so we
can do the reverse — make a vector out of a 1-form. One need only raise the
indices of the components by using ¢"” which is the inverse matrix to g,
i.e. 9" Gy, = 0.

One can also raise the indices on an n form to make an n-vector, that
is, a totally antisymmetric rank n contravariant tensor. This can then be
plugged into some of the slots of the € 4-form to generate a (4 — n)-form.
This process is called Hodge duality, duality in a different sense than the
word was used before to relate 1-forms and vectors.

It is easier to discuss in terms of components. First consider a 1-form
J = J,dz#. Its dual is

1
T = Sy A A dz? A da”

which is clearly a 3-form.

1
From the two form F = §Fm,d:):” A dx¥ we find the dual

* 1 1 v (67
F= quwagF’ dz® A da”.

1
From the 3-form K = gKWpd:L‘“ Adz” A dz? we find the dual

1
K = ——€pa K"Pda.

TR

1
From the 4-form G = EGWWd:pH Adz” A dz? A dx® we find the dual

. 1
G = Ieul/paGp,Vpo

which is a O-form or ordinary function.
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Finally, from a 0-form or ordinary function f, we have

1
f = fe= Eewpgdx“ Adx” Adx? Adax?.

Note that **w = (—1)"w if w is an n-form. °

If F is the electromagnetic field strength tensor (Faraday according to
MTW) then

* 1 « 1 * «
F = ZeaﬂFwdx Ada? = 5 (Fopda® A da”,
0 . B, B.
\ | -B., 0 E. -E,
(Fag = -B, -E. 0 E,

-B, E, —-E, 0
*F is called Mazwell in MTW, but I don’t believe this (or Faraday is com-
monly accepted notation.
What is d *F?
1

1
§8p ("F),, dz* Adat Ada” = 1 " 0y Fopda? Nda Ada”.

That doesn’t seem too familiar, so let us take its Hodge dual,

1
CAF) = e P Fypda”

N————
—3 (0587 —6g067)
1 1
= (30 Fa0 = 50" F ) e
(2 g s )t
= —0%F,,dx’ =+J,dx°.

This, together with dF" = 0, are Maxwell’s equations. Define J = J,dz? to
be the current density 1-form. then * (d*F) = J, so d*F = d*J. So we have

6In n dimensions,

1
Fdat A At = e et A A et

Applying the dual twice to a p form, **w = (—1)P(* =Py,
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now rewritten the equations of electromagnetism as

dF = 0
d'F = 7J
f = F(,u)

The scalar field ¢(z):

d¢ = (0,¢)dz*. To make a second derivative, we can’t just take dd ¢,
because that is identically zero. But we can take d *d¢, which should be a
4-form, as *d¢ is a 3-form
1
dop = iewma’%ﬁdxo‘ Ada” Ada?, SO

1
d*dyp = 376y 9,0 pda” A dx® Ada” A daY

Note: doesn’t this assume €,a5, 15 a constant?
It is easier to understand the dual of this 4-form,

1
g = 5 6 0,0"0 = —00.

315,
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0.7 Integration of Forms

Suppose we have a k-dimensional smooth “surface” S in M, parameterized

by coordinates (uq, - - -,ux). We define the integral of a k-form
w(k) = Z wilmikdxil A A dl‘z‘k (3)
11 <...<ig
over S by
/w( ) :/ S wip g (@) [ [ =2 ) dur dus - - - duy,. (4)
S 1,02,k -1 Oug

We had better give some examples. For k = 1, the “surface” is actually
a path I' : w +— x(u), and

Umax 81:
/Zwidxi :/ sz el du,
r Umin
which seems obvious. In vector notation this is [ A dr, the path integral of
the vector A.
For k = 2,

[= [ 3.

In three dimensions, the parallelogram
which is the image of the rectangle

[u, u+du) x [v, v+dv] has edges (0Z/0u)du -
and (0Z/0v)dv, which has an area equal to
the magnitude of

gy or or
dS _<8u><8 )dudv

and a normal in the direction of “dS”. Writing B;; in terms of the corre-
sponding vector B, B;; = €, B}, so

ox or
2 _ hahd
/Sw /Sekak <8u> (Gv)dedv

0r Of S
_ /B’“<a_uxa_v) dudv:/SB-dS,
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so [w® gives the flux of B through the surface.
Similarly for £ = 3 in three dimensions,

83:) (89?) ((%’)

Z — — | dudvdw

€ijk

<8u ov ; ow ),

is the volume of the parallelopiped which is the image of [u, u + du] x [v, v +
dv] X [w,w + dw]. As w;ji, = wi2s €5k, this is exactly what appears:

Ox; Ox; O
/ /Zemkwl% afL' afj a:f,:d udv dw—/w123($)dv

Notice that we have only defined the integration of k-forms over sub-
manifolds of dimension k, not over other-dimensional submanifolds. These
are the only integrals which have coordinate invariant meanings. Because
the k-form is chart dependent (including that the coefficients are covariant)
the expression (4) is independent of the chart C' (with coordinates z*). But
it is also independent of the parameters used to parameterize the surface.
Suppose p;({u}), j 1,...k is an alternate parameterization of S, with
" (p(u)) = x*(u). Using it to define the integral,

or;
/s<p> W = / Z Wir..ie [H Z] dp1dps - - - dpy
117227 7k
k dz;, Ou;
= Wiy ..., (;f:(p)) v dp1 d,OQ cee dpk
z‘mg.,ik e=H1 % duj, Ope

5w a(i(0) (1_1 au;) dus duy - .

11,82,-0050k

d“’s combine, as a Jacobian,

where the antisymmetry of w insures that the
with the [[dp to form [] du.

Thus the integral of a k-form over a k dimensional surface does not depend
on how the surface is coordinatized.

Notice that we have defined this integration even on a Manifold that has
no metric g. But this only permits integration of k-forms over k-dimensional
surfaces, so in particular a function f can only be evaluated at points, not
integrated. If we do have a metric, however, we can define on a n dimensional
manifold the Levi-Civita n-form €, and then integrate the Hodge dual * f of

f over the full manifold, [y, *f = [ f(2") € da Adxk A - A datn,
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We state” a marvelous theorem, special cases of which you have seen often
before, known as Stokes’ Theorem. Let C be a k-dimensional submanifold
of M, with 0C its boundary. Let w be a (k—1)-form. Then Stokes’ theorem

says
/de = /acw. (5)

This elegant jewel is actually familiar in several contexts in three dimen-
sions.

If £ = 2, C is a surface, usually called S, bounded by a closed path
[ = S. If wis a 1-form associated with A, then Jrw=Jp A-dl. Now dw is
the 2-form ~ V x A, and Jgdw = [g (ﬁ X /T) -dS, so we see that this Stokes’
theorem includes the one we first learned by that name. But it also includes
other possibilities. We can try & = 3, where C' =V is a volume with surface
S =9V. Then if w ~ B is a two form, [qw = fsé-dg, while dw ~ ﬁé, SO
Jy dw = fﬁ . édV, so here Stokes’ general theorem gives Gauss’s theorem.
Finally, we could consider £ = 1, C' = I, which has a boundary 0C' consisting
of two points, say A and B. Our O-form w = f is a function, and Stokes’
theorem gives® [ df = f(B) — f(A), the “fundamental theorem of calculus”.

"For a proof and for a more precise explanation of its meaning, we refer the reader to
the mathematical literature. In particular Rudin, Principles of Mathematical Analysis and
Buck, Advanced Calculus are advanced calculus texts which give elementary discussions
in Euclidean 3-dimensional space. A more general treatment is (possibly???) given in
Spivak, Differential Geometry.

8Note that there is a direction associated with the boundary, which is induced by a
direction associated with C itself. This gives an ambiguity in what we have stated, for
example how the direction of an open surface induces a direction on the closed loop which
bounds it. Changing this direction would clearly reverse the sign of [ A dl. We have not
worried about this ambiguity, but we cannot avoid noticing the appearence of the sign in
this last example.
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0.8 Vierbeins, Connections

[Ref: Weinberg Part 2 Chapter 3]

Physics is described locally by fields, forms, and the metric tensor. At
any point, the principle of equivalence tells us it is possible to choose a
Minkowskian coordinate system with ¢ = 7. Let us set up a chart with
coordinates £ near the point P which is Minkowskian in the following sense:

o A free object at P has no acceleration in terms of the ¢ coordinates,

d*¢e/dr? =0
o g =d&* ®d&fn,s at P.

[Note: the coordinates £* are specially chosen to match the point P, and
more properly should be called £%.] Einstein assures us that we can write
down physics locally, at P , in the coordinate system &, and it is the same
as it would be were their no gravity.

The coordinates {3 (P’) of the point P’ have no decent properties except
for P’ at or near P. In fact, we could have chosen a new chart £2, centered at
P’ to have things look Minkowskian there. Let us simultaneously use another

chart C'= {z#}. Then

d¢* = Ve, dz", where VH:@P.

The object V,(P) is called the Vierbein.
The components of g in C' are

g = gudr” @ da” = 1,3dE® ® d€” = VeV de™ © de?

SO G = nagV”uV[f,.

The vierbein therefore determines the metric tensor.
What is the equation of motion?

=0

Y dr dr ko dr?

d d§* 0— d o dxt\ o dx¥ dt ., A2t
dr dr ~  dr Fdr )

V is the Jacobian of a nonsingular change of variables. Its inverse is therefore

e Oxn N Ozt g
(v, :a%a’ as (V) vyza—;.aﬁz(sg.
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d?xt 1\ <o dx¥dxt
Thus dr? <V ) mYodr dr

P
I

where we have defined the affine connection

OxP 0%¢
e, = (v ve, = 6
HY ( ) o MY & Prrdry ( )
Thus we have the equation of motion
d?a dx¥ dx*
P > 7
dr? T dr dr (™)

This is also known as the geodesic equation, not only in general relativity
but also on a Riemannian manifold.

Let us examine the relation of the affine connection to the metric. Note
that as 17, == (V1) v, Ve, =VeI?,, so

8%

Hop

T ai (VaVimas) = (VS V5 4 VoV, ) Nas
= ( Va Vﬁ + FU Va /LV ) Nap = Faupgau + Fgupg(w

Note we have assumed 7,3, = 0! So { is more than just an orthonormal set
of coordinates at P, it is also one with no acceleration without forces.

The vierbein is not a tensor, because it refers to two different charts. I'
has only indices which refer to the chart C', but nonetheless it is not a tensor.
We shall see later how it changes under chart change. Nonetheless, let us
raise and lower its indices with g, so

Juvp = Lopp +Twp,  but also I'gu =gy
Add the same with p < p and subtract v < p,

Govp = Tvpp+ Lo =Top +T 0
I, -1, =-T,,—-T

~Gupw puv wov pVL wvp

so, adding and dividing by two,

(Guvp + Govis = Gupw) = Lupp

N | —
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and Faup =97 Topp = %gw (Guvp + Govis = Gupar)-

In flat space, the path of a free particle is the path which maximizes
proper time (twin paradox). That means we maximize [ f dr, holding the
endpoints fixed. 7 is an invariant, so we expect

dx* dzv
S = /dT_/ \/ g (2(N) A

to be maximized along the actual classical path of the particle. We can
calculate the path by varying z#(\) — x#(\) + dz#(\), and insist that

dz* d 1da* dx* 09,
0=4S = /B gm/d)\d)\ _§ﬁﬁ8xp . d\
A v, =dr/dA
da* d 1 da* dat g, (dr/d\)?
- / ( 9 g a0 T S our W) drjan
dx* v\B
= A

0oat A and B

A’z dat  da? 1dat da? .
AU R =ty = L

SO
d2z* N ( 1 > dxt dxP 0
I 12 Guvip = 5 9upw i dr
symmetric in
pep
Pz 1 dxC dxP
Thus dr2 + 59’ (gal/,p + 9pv.o0 — Yopv ) ar dT =0,
d?zt dx® dxf ) _
a2 MJPFE =0 Geodesic Equation.

It appears that we have derived four equations of motion from stationarity
under the four variations dz*(X). This is not really true. Consider the
variation

zh(N) = 2" (N) + 0zF(N) = 2 (N + dN) = 2*(N).

The change in parameterization of th path does not affect [ dr, which is
geometrical, for any x#(\), physical or not. Thus §S = 0 in an identity, not
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an equation of motion, for da#(\) o< dz*/dA. This can be verified directly by
multiplying the equation of motion by g,,dz"/dr:

At et det et
o g dr? e dr dr dr

1d | dx¥ dz* 1 )ﬂﬁ@
dr dr dr

~ 7 T4 17 F 7 S v
2dr | dr dr n +( e 29“ ki
1

1 1
29up,v—39vp,u

as 1 is a constant and by symmetry under p < v.

Why are we only getting 3 equations from our four unknowns? Why is the
action refusing to tell us equations which determine from initial conditions
the subsequent motion z*(\)? Because there is a real arbitrariness. The path
I' = {z#(\)} is physical, but the parameterization has no physical meaning,
so the physics cannot tell you how far to go along the path I' for a given
AM. This is an example of a local gauge invariance — not all of the variables
used in writing the possible motions are physical. One way of handling
such problems is to choose the undetermined parameter by a supplementary
condition, called a choice of gauge. For example, we might require A = 7. In
electromagnetism there is a similar problem with A,. The gauge invariant
action cannot determine A, because A}, = A, +0,A(Z,1) is just as good, and
A can be chosen to give no contribution at the initial time but make changes
later. In electromagnetism we sometimes impose the Lorenz gauge condition
0,A" = 0. This provides the necessary fourth equation to determine A* in
the future from initial conditions.

There is another approach, which is to screw up the action so that it
is no longer gauge invariant. For example, adding a term (9,4")? to the
lagrangian density. This will produce the usual equations plus the equation
0, A" = 0, so it is equivalent to imposing a supplementary condition from
the start. Similarly, if we write

dx* dx”
Y Y
S / I "I\ d

leaving out the square root, we find the geodesic equation with d/d\ instead
of d/dr. Multiplying by g,,dz"/dX tells us X o< 7.

It should be said, however, that all of these approaches “fix a gauge” in
an arbitrary fashion and therefore remove some of the symmetry inherent in
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the physics. One must not treat an equation like J,A* as a fundamental law
of physics, as one can the equation d*F = *J, for example.

Having derived the equation which determines how otherwise free parti-
cles move in a gravitational field, let us compare with Newton’s laws for a
test particle in the field of a single heavy body at rest. We must limit our at-
tention to slow particles and weak gravitational fields, for otherwise Newton
can’t be right. Furthermore, it should be possible to choose our coordinates
so that g,, = 1w + hy where by, < 1, s0 I' < 1. Then to first order in A,
I'and v, t = 7, u* = (1,7), and the geodesic equation and F' = md = —V¢
give

A2z )
a2 = Iy = —0;0,
where ¢ is Newton’s gravitional potential ¢ = —GM/r. Assume g, is inde-
pendent of time. Then
j 1 1
Mo = B (gj0.0 + o0 — Gooj) = 5900,

S0 goo = 1 — 2¢. This is the Newtonian approximation.

Consider now a stationary metric, g,, () independent of ¢, not necessarily
weak. Consider two clocks at rest in this field. Each clock is guaranteed
by the manufacturer to tick once each second of proper time regardless of
acceleration (no grandfather clocks allowed). In terms of our coordinate
system

(AT)Q = _guuA$H Az” = _QOO( ) (At)
so the coordiante interval between ticks is
(At)A = [—Qoo(fEA)]_l/za (At)B = [—goo(xBﬂ_l/Q-

If A sends light signals to B each time his clock ticks, the time differences
trocoived — tomitrea Will be the same for each pulse, so B can measure on his own
clock the period between ticks of A’s clock. The answer is

Aty _ [900(333)} 12
Atp goo(xa)

T =

and the frequency of the light emitted is therefore shifted by

=7 {900(95/;)}1/2

goo(7B)
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We have derived this for an arbitrary stationary metric. In the Newtonian
limit
1 1

]éz1+(¢A—¢B)—1+GM[TB E}'

L’_{M
f o |1+2¢5

At the surface of the Sun ¢ = —2.12 x 107°, so for an observer at oo, the
Sun’s light is red shifted by

Af/f = +¢surfacc = _212 X 1076.

Note that f'/f = 1+¢a—¢p agrees with our calculation based on equivalence
to a rocket ship.

This gravitational red shift is best tested by dropping photons down a
shaft at Harvard. General relativity has been tested thereby to an accuracy
of about 1%.

Read chapter 3 of Weinberg, which we have just finished.
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0.9 Parallel Transport

Consider a manifold with a vector or a 1-form defined at each point. such an
object might be a physical field, which would have field equations involving
derivatives of this vector quantity. How can we tell on a curved manifold
whether a vector V.= V#(x4)d, at the point A is the same or different from
V at B, V#(zp)0,? The naive thing would be if V#(x4) = V*#(zg), But the
V#’s are chart dependent and such a statement of equality of components
at different points can be true for one chart and not another, and has no
real meaning for the manifold. It is also the wrong requirement even for the
simple example of a two dimensional Euclidean space in polar coordinates,
for a vector in the p direction for ¢ = 0 is completely different from one of
the same magnitude in the p direction at ¢ = 7/2.

This is true even for A and B very near each other. By definition, all
charts agree on whether two directions differ by a finite angle as A — B, but
not on the rate. Thus lim V*(xp) is well defined, but not 9,V*(xp), in

TB—TA

the sense that it is chart-dependent.

Thus an arbitrary manifold has no means of comparing vectors at different
points, unless there is an extra structure placed on the manifold telling how
to move a coordinate system from point A to a nearby point B.

Let the equivalence principle help us out, by giving us a chart C" = {&#}
of a neighborhood of the event A which is cartesian and inertial at A.
Then g,5(za) = Nap and g,5.(v4) = 0. A vector V. = V#9, = V"0,
defined at A is parallel transported an infinitesimal distance from A by
holding its coordinates fixed, because that’s how one parallel transports
in flat space cartesian coordinates. Thus if we have a vector field V and
we ask what the “physical change” in V is along the &, direction, it is
V(B) — V(A)ansportea = AL (8&\/’52 0j. Let us define that to be AE* times
the covariant derivative D, in the A£® direction. With Az* the corre-
sponding change in chart C’s coordinates, we have

Az"D,V = A& (a,V'7)d,
g o9&\ OxF
— LS o 14 -
Ax 895“6" (V 81:”) 3566”
L 0P\ Ox*
oo D,V = 0, (V 8x”> oepr
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0?8 Oxr
= |9, V°+ 3 V|9,
Oxrdxv 9L
P
r

Thus the components of the vector D,V = (D,v)" 8, are
(D,V) =0, VP 4+T7,,V".

Again, D, is known as the covariant dervivative.

The chart C' was an arbitrary chart. In some other chart with coordinates
z'#, would we have (D, V)’ behave like a suitable tensor, with one covariant
and one contravariant index? That is, is

oo ox'P Ox¥

" 9z O'm (D, V)

(V)
The left hand side is

(DLVY = Vg1 V"

oz” oz'P or'®
= a5 5, Y Ve F/P V)\
oz’ # ( ox° > T oz

daV_ 9z P - o 0P A)
dx' b Oz WV +( TH 9z v

The right hand side is

oz'? ox¥

o D —(9,V7 +17,,07).

We find covariance if it is true that

» 02’ dx¥ O o ox* 0 0ox'r

e, L
BT Qe Ok Ox's . YN QxR Q' m O™

Note ox'# \ oz’ Ox* ox'm "

_ % ox'P O O ox'r
CQx kI s O e Ox'# Qx>

0 <8$)‘ o%”’) 0 5 — 0
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The second term matches our above questionable identity, which becomes

e 2 ox'P dx¥ 02 ox's 9%t
) ) LR YN T
But this is true, as verified from the definition
F}\ am)\ 62 ga

w 9@ Parday

in Weinberg 4.5.2.

We have gone to great lengths to define the covariant derivative of a
vector, which is nontrivial because the basis vectors may change from point
to point. There were no such difficulties for a scalar, as the scalar did not
require basis vectors. Thus D,f = d,f. For forms we must again worry
about a basis, but we can take a shortcut if we use Leibniz product rule,
D,(AB) = D,(A)B + AD,(B) which must hold for any derivative (and in
particular it holds for 0/0§*). Let A = A,da" be a 1-form which we wish
to covariantly differentiate. With V and arbitrary vector,

D (A|V) =0,(AlV) = (D,A|V)+ (A|D,V)
=9, (A,V") = = (DyA), V" + A, (9,V0 +17, V7).

Thus
(D,A), = 0,A, — FPWAP.

The rules for an arbitrary tensor can be found by considering tensor
products of vectors and 1-forms. We find

(D, T)

Pl---Ps

»
_ a Tvi- V'rl . +ZFVZ TV Vie1OWig .Uy
=1

p1--Ps

s
72 e Vi...Ur
F T P1---Pi—10Pi41..-Ps "
—1

The relationship between forms and vectors we just preserved in our defi-
nition of D on a form has nothing to do with the metric. But another connec-
tion we would like to have is that parallel transport of a pair of vectors should
not change their inner product g(u,v). Thus d,g(u,v) = D,g(u,v) = 0 if
Dyu=0and D,v=0. But

D,g(u,v) = (D,g) (u,v) + g (Dyu,v) + g (0, D,v),
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and the last two terms are zero, so we must have
D,g=0.
To check this, evaluate

(ng)po. = ng’,,LL - FApugAU - F/\gp,g)\p

by our general relation for a tensor, so

(Dug>pa = Gpou — Lopy = Dpop = 0,

which is true (see notes p 46), so all is well.
Note: As Dg = 0, D commutes with raising and lowering indices! That
is important, e.g.
n

7o & | =[P s

1—form/ , vector

Our definition of covariant derivative assumed the vector or scalar or 1-
form was a field defined in the neighborhood of the event. Sometimes there
are quantities only defined on, for example, a path. The velocity of a particle
as it moves along its world-line is an example. u is simply not defined except
along the path, and neither is, say, the spin of the particle S. But we can
define a convariant derivative along the path as it would be were S defined
everywhere

D v v m v v
<—S) _ (dm D S) 77:udi <85 +I"’WS") ”:dS Spdz

DX A d\ \ Oz d)\ X

The last expression is well-defned entirely along the path of the particle, even
though the expressions in quotes are not.
Recall from homework v [ ~ df and doesn’t require any knowledge of
. Similarly V x A ~ dA doesn’t depend on g or I'. But V-A=r*d"A,
and the * requires the use of €,,,, = /g [uvpo], where it is [uvpo], not €,,p0,
which is a constant (£1 or 0). Thus if A = A,dz*,,

* 1 a K
A = EA“\/g[upo/ﬂdxp Adz® A dx
* 1 v a K
d"A = gﬁy (A*\/q) [ppok]ldz” A dx? Adz® A dz

1
and  Td*A = 0,(A"g) g~ Plvpor]lupor] = 9710, (A" /)
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That is perhaps not what you expected (9,A* 7). But it is the covariant
derivative of the vector A, contracted to form a divergence,

D, A" = 9, A"+ T, A",

1 1 1 _
as F‘uu,u = §g,up (gl/p,u + Gup,v — gl/u,p) = §gupgup,v = 5 TrG 1auG

1
=3 Trd, In det G =9, In (91/2> = ¢g7129, ¢'/?

(where the matrix G =g.. .)

Thus D, A" = g71%9, (A*\ /).

If we used D, for the divergence, why not for the curl? We did, but it
made no difference,

V x A~ D,A, — DA, =0,A, —9,A,— 7, —T* | A,
N————

pv
0

so the I' dependence falls out of the antisymmetric part of the covariant
derivative of a 1-form. Define the tensor product of two 1-forms and therein
lies (if A is a 1-form)

da' ® D,A = da* @ da” (9,4, —17,,4,) .

The antisymmetric part is just dA, but the symmetric part is dependent on
the connection coefficients. Similarly dF ~ D, F,,,, and the I' drops out.

Restatement:
Let us suppose we have a physical system involving a field ¥ which takes
values in a vector space, so that in some particular basis we have ¥® a =

1,---, N. Let us also suppose that the phuysics is invariant under a group of
transformations o fthe basis, or under
a —i0L\* /b
W= () v (8)

made independently at each spacetime point. then if any derivatives are
to enter the theory at all, there must be some additional structure. Let us
assume a kind of equivalence principle: at any one point P of spacetime it is
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possible to find a set of bases e, (z) such that, at P, the physics is described
by a Lagrangian £(v,d,%) with no other fields (analogous to the laws of
special relativity with no gravitational fields). Then in any other basis, the
Lagrangian must be described by

L', Dyy)
where the relationship between the bases (8) also holds for

D;ﬂ/)/ _ ((€—i9L>ab aﬂ¢b _ <€—i0L>ab aﬂ <€i9Lw/>b
= 94+ (ewa)“b 9, (ei0L>bc re

or D, =10, + eiieLﬁuewL is a matrix acting on the vector space of the ¥’s.
Define

A = e—i@L aﬂ eiGL — A,u'
Note that although €% connects two bases at the same point, the one for
which the “inertial” frame has no A, one bases that inertial frame’s and the
other an arbitrary, general basis, the A refers only to the general basis, but
in a sense at neighboring points. It defines parallel transport in the vector
space of the ¥’s.
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0.10 Electromagnetism in Flat Space

In quantum field theory, a charged particle is described by a complex field
¥(x). Only the magnitude of the field has direct physical interpretation, so
therei is no inherent meaning to what is the “real direction” for . It might be
easier to think of 1 as a two component real vector ¥ = 11 +iy. All objects,
e.g. L, J,, etc., which one could write in therms of ¢*¢) can be rewritten as

(G

(&

and whcih is the 2 direction, and under a rotation ¥ = (Zl ) — U =
2

such dot products don’t change and the physics is invariant under this global
gauge transformation.

Suppose, however, we require physics to be expressible in terms which
permit a rotation in the (1,2) coordinate system independently at each point
in space-time. Then we have the same trouble defining the derivative that
we had in gravity. ;(A) — ¢;(B) has no intrinsic meaning, and we must
define a parallel transport of the basis vectors on (1,2) space.

Suppose it is possible, at a point, to choose a coordinate system such
that D, U = 9,¥% a = 1,2. In some other basis ¥'* = (e*w(z)%yb wb,
and, because D, ¥ should rotate like ¥,

contractions of 2-vectors, (11, ¥s) ( ) . There is no physics to which is the 1

(DLB)* = (e7®@)" (D,w)’
= (W) g, {(em(x)ay)bc \I,,c}

0V + (9,0) (io,)", V'
= 90 4 A" U

The A field is seen to be analogous to the connection coefficient I'. In our

simple E-M system A is always proportional to (io,)®., wo we generally write

Aacu = Q(iay)acAM

where ¢ is the electric charge of the particle.

Start with a Lagrangian £, (¥, 0, V) which does not have this “local gauge
invariance”, but is invariant under a global transformation ¥ — e~ v, for
¢ a constant. Then let

L =L,(V,D,V)
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be a different (A field dependent) lagrangian. It will describe the interactions
of the charges with the electromagnetic field via the “principle of minimal
substitution”

0y — O0u + qlioy)A,.

Another way to write this is to define the matrix A, := g(io,) A,, and
then the covariant derivative is a matrix operator D, = 10, + A,,. This is
usually written in the complex form,

Oy — Dy, = 0, —iqA,.

The new £ is invariant under ¥ — e~ "v?@ W provided we simultaneously
make the gauge transform

A,— A, - iayﬁu(b.
q

Consider as an example
1 m? 1 m?
Ly=-0" P+ — — "D = —¢% Pt — — PP
g 2 Za: {2%#’ 2 }

oLy _ ) 0L
dor M oge,

The Euler-Lagrange equations gives

0,016 +m?¢" = 0

which is the Klein-Gordon equation for a scalar field. The lagrangian £ is
invariant under §¢” = (io,)", ¢ and the corresponding Noether conserved
current is

0Ly
99,
which is conserved as 9,J" = —m*¢(—io, )¢ + ¢“’“(—iay)“b¢f’u = 0 by the

antisymmetry? of o,.
Now consider the modified lagrangian

JH

60" = 6 (—ic, )"0,

2

L(6,A) = % (Do) (Do) — g

9Note moving the a index up or down makes no difference.
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which gives the equation of motion D, D*® +m?® = 0 and the current J* =
(D,9)" (—ioy,)%¢°. J* is now unchanged by a local gauge transformation, so
it is a scalar with respect to the gauge group. (i.e. independent of the two
dimensional rotations). Thus

01" = Dyl = (DuDY6) (—icy)6 + D (i) Dy
—m*¢(—io,)¢ + D"¢(—ioy) Dyp = 0,

just as before. But we now have the electromagnetic field included.

Consider a little rectangle and an electromag-
netic field A, throughout the region, as well as a
two component field ®. Suppose I parallel trans- D A).(u C
port ® from A to B to C to D and then back to A. -
Will T get the same & that I started with? Let’s

AX\) *H Fe AxV

try.
’ £
Ar"D,® ~ Ax" (9,9 + AL (E)®) =0 A pxn B
so 0, = —A,P.
Now @p—®y = —Az'A,(E)B(E)+ 0 ((Az)).
Similarly ®¢c — ®p = —Az"A,(F)D(F),
dp— P = AzFAL(G)D(G),
P, — Dy, = AzA,(H)D(H).

Let’s evaluate this to second order in A’s:

P, — 0,y = Azt A0S~ Az” A0},

Azt Az” [0, (A,®) — 9, (A,®)]

= A" Az” {(0,A, —0,A,) D+ A,A,D— A,A,D}
= —Az"Az"F,,,

Q

where

Fo = 0,A, —0,A,+AA, —AA,.

We do not come back to what we started. This is true in the (1, 2) gauge
space for @ in electromagnetism, and it is true for a 4-vector in curved space
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as well. I have actually been more careful than you might have expected,
because the A’s are matrices so one should be careful to keep their orders
intact. For electromagnetism it doesn’t matter, as all the A’s are propor-
tional to o, and so they commute, and F,, = 9,4, — J,A,. But we might
think of a more general cse, where we would have the A’s a nontrivial set of
matrices, and F too, with

F,=0,A -0A,+[A,,A)]=[D,D,].

This is Yang-Mills field theory, also known as non-Abelian gauge field theory.
Special cases include

(a) the Salam-Weinberg unified model of the weak and electromagnetic in-
teractions, for which they got the Nobel Prize in 1979. Here the A’s
are 2 X 2 unitary matrices representing the photon, the W+ and the Z°
particles.

(b) Quantum chromodynamics (QCD) the generally accepted theory of the
strong interactions. The ®’s have three components called colors (red,
green and blue quarks), and the A’s are unitary 3 x 3 matrices with
determinant 1 acting on these three component vectors. This group is
SU(3)colors and the A’s ar gluons.

(c) Grand unified gauge field theories postulate that the A’s are bigger ma-
trices forming a Lie algebra. Various possibilities considered have been
SU(5), O(10), O(14), O(18), O(22). Each contains the SU(3)qq1or X
U(2)gw. some of the A’s are “baseballs”, some cause the proton to
decay. These theories are still very speculative.

(d) Although it is not quite a Yang-Mills theory because of features we have
not yet discussed, gravity has the same property. If ® is a vector, A,
is a 4 x 4 matrix with components (A,)°’ = T”,,. It is not usually
called A, of course. The F,,, in this case is called R,,,, which in terms
of I' becomes

)

(R/W)aﬁ =0, = 0, 1%, + Fawlﬂﬁu - Fawlﬂﬂu'

Standard notation for this is R%,, in MTW, or —R%; , in Weinberg.
R is actually a tensor, unlike I'. I' is not a tensor because the matrix
indices (the first two) refer, in a sense, to different points. Its change under
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change of chart therefore depends not only on the way the coordinates change
at the point in question but also on their derivatives. the matrix indices of
R, however, refer to the same point, for the vector has been brought back
to the starting point. This is the reason, but the proof of the pudding is to
use the rules for changes of chart for I' and discover that the inhomogeneous
terms cancel.

Weinberg shows R is the only tensor which

1. depends only on g and its first and second derivatives, and
2. is linear in the second derivatives.

It is called the curvature tensor, or in MTW, “Riemann”.
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0.11 Geodesic Deviation

Consider a set of trajectories
through spacetime, parameterized
by p, each of which is a curve pa-
rameterized by a parameter A, sep-
arated by a small distance. At

+
each fixed A, we may consider p+Ap
JoP s <
n = AP|, as a vector Apa—p = - A=l a=2 Tp
ox' OP Oxt
Apa—p Dt = Apa—paﬂ, where x#
is some chart. Then MTW p219

o
calls n* = Apai.
dp

Let us ask how n develops as we move along the trajectories, assuming
each of the trajectories obeys the law of geodesic transport:

Du”  du” Y . , ,  Ox¥
DN + I, ufu” =0 with " = x|
P P
on# O H OuH
ow ——| =Ap———=0p—| .
8)\8p O\ 0p dp |,
Taking 5,08— of the geodesic equation, we have
0
OPnH 0 on°
0p 5Tt | wlu® + 204 b =0 9

oz aT
op 5/3 I po,all r po,Q

Let us use this to evaluate the second derivative along the free-falling path
of n,

D Dn* D (ont ST e
- — - - n
DX DA Dx\ax et
o [on* on®
_ o B feY o
= (ﬁ + T ,nfu ) + T u (W +T ,nu )
D2t Pnt onf ou’®
— IS PuuP 4+ OTH TLTH pP
D2 R ) W Y)Y
=~
,Faﬂauﬁua
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S S RV Vg
&nt on’
_ 1% o, B o
0 = e + I, g 0 u’u +2F“pgmu
D*nH
_ 7 Iz H a a B,,o
0 Sy = T e S e A P
D*nH
and D—)\Q + R"Upﬁnpu’gu” = 0
This gives an interesting piece of information.
In the freely falling inertial chart % = % if we take A = 7, the spatial

components give the rule for the acceleration of a particle at separation 7 at

rest ;
d*n . ,
(dt2> = ~Iojn’.

Symmetries of R

We have seen that R, = (w*|[D,, D,]es), so R is antisymmetric in the

last two indices. Are there other symmetries? If so, because R is a tensor,
they must be true in any frame, so we will work in the local inertial frame.
Recall that in that frame, g, , and I' vanish, while g,, = 1,,, so

Raﬁ;w = aﬂraﬁu - (lu = V)
1 fey
= 58;1 [g r (gup,ﬂ + 98py — gﬁV,p)] - (:u' = l/)

= g% [Qupyﬁu +  98pun —gg,,,pp] — ('u — V)
N—

— 0 under p—v

1
so Ry = 3 [Gvp.80 = Gpupu) — (1 < V)
1
= 5{9”“5” — (ﬂ PN p)] — (,u — l/).

So R is also antisymmetric on the first two indices when the first is lowered.
1

If we interchange p < p and v < § we get 5 [gﬁ#,,,p —(p V)] — (B p) =

1

5 [gpwtﬁ — (= V)] — (B < p), which is the same, so

Raﬁ;w = _Ra[iup, = _Rﬁaul/ = +R/u/aﬁ-
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This is then true in any chart.
Now consider

Ra[ﬂ”ﬂ] <Ra/u/p + Ral/p,u + Rapp,l/i|

D =W =

_— ao oy — _(y
inertial chart g [{(g o — (= 0)) = (v = p)}

+(u—>v—>p—>u)+(u—>p—>l/—>u)]-

There are 12 terms in the bracket. In obvious shorthand, they are

O, W — PP, OV — OV, ip+ v, 0 + 04, vp— VL, 0p — 0P, ViL+ Vp, O
—_ Y~ Y~ = —_ Y Y~ Y~

3) (4) (2 1 (5) 1 3) (6)
+ oV, pp— o, ppp— o pi, pv + pp, ov = 0,
N—— S = =
(&) (6) (5) (4)

by cancellation in pairs as shown. Thus R%,, ; = 0 in any chart.

Bianchi Identity
Raﬁ,u,l/ = <wa”Dﬂ7 DV] 6ﬁ>
Let us parallel transport w and e so D,e, = 0 and D,w® = 0. Then

(DpR)%g,, = (W|Dp [Dys D] eg) = (w*[[Dy, [Dy, Dol €g).

Buv
Defining R%5,,., := D,R"%3,, [we will use ; as the covariant derivative for any
tensor]|, we have

Raﬁw;p + Raﬁl/p;u +R = (W Oleg),

Bppsv
the matrix element of

0= [Dpv [Dm DV“ + [Dm [DVa Dp“ + [DIM [Dm Du“ .

But the D’s are associative operators so the Jacobi identity assures us this
operator is zero, which gives the

Bianchi Identity: R4 = 0.

[The corresponding statement in Yang-Mills in flat spacetime is D, F},,; = 0,
which for an Abelian theory (E&M) reduces to 0;,F),) = 0, the homogeneous
pair of Maxwell’s equations.
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More on the Equivalence Principle

Let T be the stress-energy tensor of matter (that is, no gravitational con-
tribution to energy density, etc.), given by special relativity as a function of
the fields, for example, of photons, charged particles, etc.. We know if we
include all such matter and if there is no gravity, d,7*" = 0. This must
still be true in the local inertial frame even if there is gravity. To make it a
statement independent of chart, note that in the inertial frame D, = 9, so
D, T* = 0. Similarly for the electromagnetic current

DyJ" =0=09,J" + T, J" =g 0, (4").

This changed form for the divergence raises the question of whether charge is
conserved! In special relativity we write () = / JodPV and use 9pJ° =V - J

and
intV - Jd3V = Js — 0 to show dQ/dt = 0. We can write this expression in
a suitable chart independent way

Q:/ Jodacl/\da:Q/\dx?’:/e(J,,,)
1% 1%

The last expression is entirely geometrical. in an arbitrary frame it reduces
to

1 1
Q= §/ €vpod dx” N dxf N dx’ = 5/ V9 [pvpo] JHdz” A dx? A da?.
Vv v

Let us choose V' (which can be an arbitrary spacelike hypersurface) to be t =
constant, so

Q

9 _ [ (e [5-67

so @ is indeed conserved.
What about energy and momentum?

/\/§J0 dz' A dx® A da?.

D, 1" =0,T" + FMP;LTW + FDp;LTHp = g_l/Zau (T"\/g) + FVWTW'

The first term is just what’s needed to make

pr— [ g dv
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conserved, but the second term breaks the conservation. This is because the
gravitational force changes the momentum of the matter.

We have already discussed the form of Maxwell’s laws in a geometrical
form d*F = *J, which can be written

d (VgF") Ada® A da’[uvaf] = [uraf] /g J* dz” A dz® A dz”

or (gI™) , =/gJ".

But D,F* = 9,F™ +T" F4T% Fr°
0

g~ '%0, (VgF") = J*.

Could we have started with an equation for A in special relativity and
used the equivalence principle? We start with

JH=FW = — ARV 4 AVE
I can write this covariantly as
Jt =AW+ AV = —D,D"A" + D, D" A",
but I could also write it in flat space as
JH = ARV 4 A Y = Jt L D, D"A" + D,D"A".

Are they both correct? The difference is 0 = [D,, D] AY = R, JAP. We
define, in general, the

Ricci tensor: Ry =R,
and the
Scalar curvature: R = RH“ : 9" Ry,
and the
. . 1
Einstein curvature tensor: G =Ry — §g,“,R.

We have found that the two proposed laws are consistent only if R,, =0,
and not in general.
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Thus the equivalence principle shouldn’t be used with too much blind
faith, as it never answers 2nd degree derivative questions. We should not be
surprised at its failure here, because we have had to use second derivatives,
which will not be the same even in the local inertial frame as they are in flat
space.

The correct rule is, of course, the first, which is D,F*j = J#. The
second can be ruled out because it is not covariant under electromagnetic
gauge transformations.

Bianchi identities involving Ricci and Scalar curvatures:

B R+ B + Ry =0
553 : Rﬂ”;p + Raﬂyp;a - Rﬂp;'/ =0

I AL &) A

36 BetvPh €ra Raﬂw;pe””p =0

_ g _ 3 3 3

- _652%]%& wip T i R R* afik R® Br;

=2R’ s~ R.=0

Define ~&7 to be the double dual of R, that is,

« 1 afB~é o
el ’BW — Ze el R,ﬂ;p €porpuv -
Define “Einstein”
GP = g :_156753 P":_}R BV_ER P _ R po
v av 4 Pov ¥é 9w 9P po
1
= RP—_R
v 2 v

1
so G = Ry — §gWR, and the last Bianchi identity is G“VW =0
Note G“# = R”u — %5ﬁR = —R.



617: Last Latexed: November 19, 2015 at 11:03 67

0.12 Equations Determining Geometry

Mass is the source of gravity in Newtonian mechanics. Matter must affect
the metric in some way in general relativity. Let us return to the Sun.

v2¢ = 47TG[), goo = -1 2(257 guu,O = 07 all I' o ¢a

so to first order in ¢, R%,, = 2%, 0

F1‘00,1‘ - FO00,0 = —%VQQOO = V?2¢ = 4nGp.
——

and R%),, = "% ,. Thus Ry =

pis thg mass density, or energy density, or Ty, which suggests a connec-
tion between R, and T),. We have seen that D,T"" = 0 is an equation of
motion, at least for particles in an electromagnetic field. So any connection
with 7, o R,, cannot be right, because D,R" # 0. But D'G,, = 0,
so perhaps T}, o< G,,. But for a point particle at rest, 7, = 0 unless
n =V = 0. So R = —GHH = —GOO, SO Goo = Ro — %gooR = Roo + %Goo, or
Goo = 2Ry ~ 871G Typ. [Note: This G is Newton’s gravitational constant,
not G 1|

Thus we are led to guess Einstein’s equation:

G =81GT,,.

This ia a relation between two tensors, so is covariant. Of course there is
another tensor whose divergence vanishes, g,,,, and we might have written

G + Agpw = 87GT),,.

A is called the cosmological constant. It must be small because empty
space (no matter) could not be flat, G, — —Ag,, in empty space, and we
therefore have had a limit |A| < 107%%cm™2, or |A|7Y/2 > 10! lightyears.
For calculations on motions < 10'° lightyears, |A|~'/2 might as well be oo,
A=0.

When it comes to cosmology it matters whether A = 0 or not. Einstein
originally did not include this term, but he found he could not find a stable
configuration for the universe. So he postulated the existence of the cos-
mological term to make it possible for the universe to sit still. Of course,
Hubble found that it wasn’t sitting still at all, but blowing up since the big
bang. Einstein called his postulating the cosmological constant “the biggest
blunder of my life. But it wasn’t a mistake — it may be the “dark energy”
that has everyone so excited now.
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0.13 Deriving the Gravitational Field Equa-
tions

Physics begins with an action:

S:/d4x g L.

L is a scalar Lagrangian density, a function of g,, and the matter degrees of
freedom, that is, all other dynamical variables other than space-time. Divide
it into
L = Lgrav + Lmatter-

Here Lgray depends only on g, and its derivatives, while Ly atter is specified
by extrapolation, using the equivalence principle, from a world where R = 0.
So we expect Liyatter = Lmatter (9us {¥}) to not depend on derivatives of
g.

What scalar can we take for Lgrav? The only one involving two deriva-
tives of g is R. One could also add a constant A.

Euler’s equations need to be reconsidered as R involves second derivatives,
as well as the first derivatives squared that we are used to seeing in ordinary
lagrangian mechanics. We take

1 1
L =—R-—-—A
ST 16rGT 86

and vary S with respect to g,,.

The variational pieces are'’
1 1 1
59 = 5971/25(— detg.) = —5971/256“1“9“ = +§g+1/25 Tring.
1 1
— +§g+1/2Tr((g..)_lég.. — §g+1/29,uu5g/w'
69" = 9" 950097 = 9" | 6(9pag”") — (0(gpo) 97 | = =997 (o)
—_————

=0

10Tf the linear algebra used in 0,/g is foreign to you, here is an alternate

derivation, though you should learn the linear algebra. From “Properties of
Determinants”, we have detg. = [urpo]gua 9v8 9py 9os [f70]/4!, so if we vary
g., ddetg. = [uvpo)gus Gpy Gos (V0] dgua/3! =  h**6gua/3!, where RO =

(tvpa] gug 9oy Gos [aBY0]/3), s0 h¥Hg,, = 4det g..6%, or h®* = 4ddet g g**. Thus ddet g.. =
4detg.. g°*6guq. The rest follows as on the next line.
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1 1,
51“p}w = +§5gpa (gua,u+gua,u_guu,a) + §gp (5guo,u+5gua,p_5gm/,a>

The first three of the six terms come to

1
§gpa (5gaﬁ> gﬁ(7 (g/w,y + Guop — guy,g) = —g”“égagl“ﬂw,

80 2¢a,017, = —25ga5FﬂW +09uaw + 0Gvay — 0Gu,a-

Now (59;“1);,/ = (5g,m),y — I'Bpvdgss — I'Bavég,s
(691/04);” = (691/04)# - Fﬁuy(sgﬁa - Fﬂaﬂ(sguﬁ
- (6.9#“’);04 = - (6.9#“’),04 + Fﬁauégﬂﬁ - Fﬁau(sgl’ﬁ
80 200,017, =6 (g,u.oz);y +46 (gl’“);u -0 (gW);a and is a tensor!

1 (e}
and 0T”,, = §gp [5 (Gua)y, + 0 (gva),, — 0 (gW);a].
Now for R:

0R%,,, = 8[D,, D,)"; = [D,.,6D,)" ; + 6D, D,]°,

Buv
but 0D, =6 (9, +A,) = dA,, so

[D,,, 6DV}O‘B = 0A,, +[A,0A)
- <6Faﬁl’) " 19,00, — 19,017,

)

Subtracting p < v gives

SR, = (5raﬁy);f(5ram)w
SRg, = (Wﬁy).pf (6T°5,) ~ Palatini Identity

And 6R = (8¢™) Ry + g™ 0R,,
_g;wz (59046) gﬁyRuu + g/w(sR/w

= - (5gaﬂ> Rul/ + g,uu(;ij'

Now ¢"d0R,, = (g“”él""w>;p — (g””éfo‘ua>;y. Each term is a divergence,
<A/\);A =g /%0, <91/2A/\> so g/2g" R, = Oy (something o 6T).
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We are now ready to do the variation.

R 1
0 = 05= / d'ed {\@ (167rG “seah T Ematter)}
1 R 1 R™
= 4 — g — —A £ :| 6 v 5 v
/ e {167@ grG s T matter | 09 = VI 157 000
oL
+total divergence + /g %ﬁer S o
0%
which gives
—RM + %Rg"” 1 A 1, 0L matter
- Zg — =0
167G 281G + 29 Ematter + 0w

or

oL 1
G + Ag" = 167G g‘;‘“er + 39" Lmatter | = 87G T
v

Here T is the stress-energy tensor of the matter. [See Weinberg p 360-363
for justification.]
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0.14 Harmonic Coordinates

[Ref: Weinberg, section 7.4]

Einstein’s equations are 10 equations for G, or 10 differential equations
for the 10 g, ’s. But G, * = 0 is an identity, so 4 of the equations tell
us nothing about g. This is because there is a set of four arbitrary gauge
transformations corresponding to x’'# = a’#(z) arising from a change of chart.
This permits us, without imposing any condition on the space-time manifold
itself, to impose conditions on the chart
= g‘“’FAW =0 [“harmonic coordinate conditions”]

This can be done, given an arbitrary chart and I', but a chart change under
which

! !
e’ da'™ Ox¥ daP _, dx¥ OxP O*a'™
el Oxr Ox'P ox'Y ™ ¥ Ox'B dx' Ox¥Oxr
1o’ 2 10
© e oz [ e 0°x

OxH I oxv e
which can be set equal zero by solving this second order differential equation
for 2/ (x).
Note that a scalar has a D’Alembertian

[P i= g6 = 0 Gpe + 100 = 0,1 = T70,.
A harmonic function satisfies [2¢ = 0. So thinking of z* as a function of a¥,

A
(Bt = x”/\ _ prup = —T",

so z# 1s harmonic if I'* = 0.

0.14.1 The linearized Theory

[Note: from now on A = 0, and the following is from MTW §35, §18.1]
Suppose there exists a chart such that g,, = 1., + hy, where h,, < 1.

We work to first order in h. The quantities which are already first order,

including I' and R, can have indices raised and lowered with 7. Thus

1 17
Fuaﬁ - 577” (h[ﬁz/,a + haz/,ﬁ - ha[j,y)
R, = D4, "

Vo - vpo so Ricci is
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) P
Rpwe = FHUO’,;}, _]‘—Wuu,a
_lhu +hH  _p H _p K _pH _ e
9| e owm v ou vo, p vi, o Hvo v,uo
N—— N——
cancels cancels
Define h := h /. Given any symmetric rank 2 tensor (in particular h..

and R..), define T, = T, — 37, T, with (T := T%). Thus

- 1
R, = Ru — 577”,,}? ~G to first order

- _ 1 - - - 1
TMV = Tm/ - §WWT, but T = T;T = Tu“ - 555T =T so
- 1
= T+ 577WT =Ty
G —l(h“ ht o —hy " —h
vo 2 [N AT + v ,op vo, K o
—hPE _|_1th +1hy77 )
P ov 2 , M0 vo 2 s M vo
1 - 1
= —(hH _ thg
2( [N 7 + 2770 )
. 1
+huu,ou + §nyuh,gu
- 1
_hl/g"ll/u - §nl/ah,uu - h,ua

. 1
7hpu,p,u’r]ou - inp#h,punav + h7up77ua)

= %(ﬁa"w + %h,w
+hf .+ %hw
fﬁug)ﬂu _ §th,uu — Ne
—EW,W%V _ % h,“ﬂau + h,#,ﬂlw)
- % (Ea#w + Euu,au - ]_7‘110',#/1, - f_lpu’p”m,/> =87G T, /nu

Next, we turn to a particular choice of chart, the harmonic coordinates

1 _
F)\ _ naﬁl—\)\aﬁ — h/\a,a 7 5h,)\ _ h)\a,a —0.
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This is harmonic gauge, also called lorentz gauge. In this gauge,

1-
Gy =—=h,, ", —81GT,,.

_5 vo, p

Suppose T, = 0 except Tog = M&*(7), a point source. Then hoy =
4MG/T, hOi = hz‘]‘ = 0, ho() = hm,; = hyy = hzz = 2MG/T, and other compo-
nents are zero. Converting to spherical polar spatial coordinates dt, dr, df, d¢,

2GM 2
=

M
1— T) dt@dt+ (1 + GT) (dr Q@ dr + r2df @ df + r*sin® 0 do ® d¢) .

You may verify that Riemann has components given in MTW 1.14, most
easily using z,y, z coordinates at a point z =y =0,z =r.

The solution we just found is a solution, but it is not unique. For the
homogeneous equation G,, = —%D_Q hye = 0 for gravity in “empty” space
has nontrivial plane wave solutions h*”(z”) = h*"(z —t), a plane wave which
we have taken, arbitrarily, in the z direction.

Consider a gauge change z'# = z# + £+ (x).

oz 0z°
g:“, = Nu + hiw = @@ (77/’0 + hPU)

(00 +€2,) (05 +€7,) U + hpo)
= Nuv + h;u/ - gmu - gu,lla

SO

fL,/U,l/ - ]j’w/ - gu,u - guﬂn h'=h-— pr’ﬂ
hlp,y = hH,V - fl/,,u - fu,u + gﬂ’unu,u-

This is the same kind of transformation we used to make A’ harmonic.

v R Nz o v PV

hul/ - h;w [ 20 gu,y + é-p an7
SN—~— N——
cancels cancels

which could be set equal to zero by finding ¢ such that [¢, = barh®,,”. If
h°'¢ is already harmonic, we can still make a gauge change providing (¢ =0,
and h remains harmonic. For our plane wave, choose &, = £, (z — t), which
satisfies this equation. Choose &, = [*7h®__(u), & =0, s0 &, . = h*__ and
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hv_. = 0. Also choose &, = [duh. 4. 4(u) so hi* = 0. Now drop the
new notation. 0 = A, = h**  + B = h=" — B so h#t = B for all pu.
Therefore

}_th _ Bzz =0 = }_ltz _ Btt _ Bmz _ }_Lyz _ th _ }_lyt_

This leaves only A%*, h*¥ and h¥Y, so only these three components are left.
Recall that it is the Riemann curvature which is the physically relevant
object. (h is not even a tensor, as it is ¢ — 7 and 7 isn’t!) So we calculate

1

lepff = mep_rwpyo' = 2 hwwp +h0u7Vp - hl/cwp - huu,pff _h/m,wf + hl/p,w
N—— N——
cancels cancels

Butﬁuy’pU:0unlessu::Eory,V:xory,p:torz,aztorz, (and

hf,u,l/,zz = _h;w,zt = h;w,tt);

h;w,po = Bm/,pg + _nl“’h,PU? so h= —hxz — barhyy

2
hazst = % (f_Lm — i_zyy>’tt =: 2a
hyy = % (P = Pc) ,
hevie =~ (ea + )
huw = % (P + )
Py it = Ezwt =:2b
other hyws =0, by oo = —Rpw 2t = hyw -

Now for R’s. There are cases:

e One index is « or y. By symmetry, it can always be made the first.

1
Racl/po = 5 (h:va,up - hwp,ua) .
One of the other indices must be x or y. If x, it cannot be v by
antisymmetry, so take it to be p. Then v and ¢ must be z or ¢, and

1
qu:pO = _§hxac,1/m 50 R:cOxO = —a, Rzzx() = a, Ra:zxz = —a.
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The other index could be y, wich still cannot be v, so R,y = —%hmwg;
RzOyO =—b= _szyO = szyz = _RzOyz-

Similarly Ryoy0 = a, Ry.y0 = —a, Ry.y. = a

e Finally, no index might be x or y. But then we have only

1 1
R.0.0 = B hozo0z —Puze — Razn + hozos | = 3 (htest + hozne) = 0.

cancels cancels

Consider a ruler in an inertial coordinate system. To first order in the
length of the ruler, coordinates and distances agree as g = 1 exactly at one
end. Consider two masses, one at the origin and one at position 7, also in
free fall and approximately at rest. Then

dQTi

dt?

_ _pi J
= Rojor.

thus z is not affected, and

() =0 L) 0)

where a = 411 (ﬁm — Eyy>7tt, b= %hzyytt are the two degrees of freedom in the

gravitational wave.

Consider a ring of such particles
in the zy plane at a fixed z. Pure a
or pure b waves o< ¢! will deform
a ring as shown.

awave: < >=() *O* O=

b wave: &’ Q’Q, Q’&
This is a quadripole deformation and indicates a spin 2 object quantum
mechanically. The gravitational wave is clearly propagating at the speed of
light, so we have shown that the graviton (a quantum of gravitational wave)
is a spin 2 massless particle.

If the graviton is a spin two particle, why are there only two possible
polarizations represented by a and b7 For massive particles we know that, in
the rest frame, we must have z-components of spin with values (s,s —1,s —
2,... — s)h, which would be 5 polarizations for a spin two object. But for
massless particles there is no rest frame. We can discuss helicities, that is,
the component of spin in the direction of motion. But there is no longer an
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angular momentum lowering operator to connect one helicity to another, and
a pure spin 2 massless particle has only helicity £2, never £1 or 0. This is
analogous to the polarization of photons, which have helicity +1, never zero.
Said another way, the polarizations are always transverse, not longitudinal.
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0.15 The Bending of Light

The geodesic equation for a massless particle is

At o da¥da?

d\2 VPN d\

Consider a photon initially travelling on a line with impact parameter b with
respect to the center of the Sun. Then we can take x =t y = b initially, with
z = 0. X is a arbitrary path parameter, but we can choose it to be roughly
x =t plus some first order corrections, so

dxt

o =(1,1,0,0) + O(GM/b), and
d dy dx¥ dx?
—2 = v — — =_TY,-IY,—-2IY ,—TY
dr dr vp d\ d)\ 00 00 z0 Tx

1 1
= §h00,y -+ §h.mc,y as hxy = hacO = hy() =0 and h‘W’Q =0

19 <2MG 2MG)
20y

r r
_ y b
= —2MG —QMGW’
dy —2MG d(tan 6) —2MG /
dr = 0do
© b / (1+ tan?6)3/2 b Sy
—2M /2 AM
and Zz - b ¢ / / cos 0df = _TG = —¢, where ¢ is the bending
final —m/2
angle. So
4M®G R@ " R@
= — = 1.75"—.
¢ Ry b b

Of course b > Rg, the Sun’s radius, so the bending of light is quite small,
less than 1.75 seconds of arc.
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[New topic?]
AGT,,(t — |7 — 7],

The general solution to A

—167GT,y is hyy = /

uau

free waves. The proof is for general f. If f** = —dmp(t, T) then

p(t_‘f_£/|a£l) 3,/
= d’x
f / |f—f/‘ )

for then

oo [HEEEE )y o <p<t mecpx>> .
r=la-3/|

r

But ﬁzg = —V2(r )+2v -V p —4mp(0)5%(F)
2420 T

where we are treating p as a function of ¢ and r for fixed Z’, so it depends
only on the magnitude of r, not its direction. So we see

s _ =/
o= —dmp(t, 3').

Now suppose nothing about 7}, except that at time ¢, it is confined to
some compact region of space. Then for ¥ far from that region, in which
we place 7’ = 0, we might expect that the details of the sources would
be largely lost, and we would get the Newtonian expression, even if the
sources themselves are moving rapidly. MTW assigns as exercise 19.1(a) and
19.3(b,c) the derivation of the form of the metric, in the source’s center of
mass, as

g’ — < 2M

1——+ (97“73) dt? — 4ejkgfmcSkxér3dt ® da’
2M -1 —2 i j
+ (1+ — + Or™" - wave terms + Or )da: ® dx?,
r
where M + [ Tood?z, Sy, = [ €pemaT™0d%z.

Note that we are working to first order in G, and hence in h, but making
no restrictions on the sources (i.e. they needn’t be nonrelativistic) except for
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being, at a fixed time, in a region which is limited to being much closer to
the origin than 7.

A nonrelativistic test particle circling the source will feel only ggo and
hence see a Newtonian ¢ = —GM /r, where the total mass is the integral of
the local mass density Tyy. This is how one measures the mass.

If one performs a more sensitive test, however, one can measure the an-
gular momentum of the source S. We will consider a gyroscope supported
to stay at a fixed coordinate. the gyro is not freely falling. Nonetheless, at
each instant, we can erect a local inertial frame so that we can discuss what
happens to the spin of the gyro L as it is accelerated. In the momentary
rest frame, we know dl_:/ dt = 0, for there is no torque on the gyro. Thus
dS*/dr oc ut. Also in this frame d@/dr = d@. From L - u = 0, we find

dL du dL du

We wish to express these equations in covariant form. Clearly

DL D
?:a-Lu, with a:= d—:f

We hold our gyro at a fixed point z, y, z, t in the coordinate system of Eq.
19.5. Then u = 9y, u* = (1,0,0,0). In our coordinate system

Du out o
DTM == 87' + 'yu Upu - 0 + FHOO - a“,

[Note it is accelerating outward]

DL# dL¥
— alut — P
dr = alu =" ot dr
. 1 1 , ; Skt S
L= _591'0,# + §guo,z' = IV =+d', V= <_€Wr—3> — (i =)
dL® dL’

SO d— =a-L—a-L =0, = fvijOLj = €S L", where Q™ =

1 _ 1k
§€nkér 10> €eenSY" =Ty

dr
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Q) is a vector which describes the rotation rate of L,

. Sigm (o amat Sm_x-Sam
Q" = €nre —C€kjm <—3> = Ekngekjmsj <L3 — ) = __3+37.
r ) r r

75 rd

Consider a spherically symmetric, static star. Then g, can be chose to be
a function of r, and rotationally invariant. One can show that by redefinition
of coordinates one can choose

2 _ 2% 3,2 2A 7.2 2 2
ds® = —e*®dt* + e“dr* +r°  dQ
(d6)2+sin? 0dp?

lor ¢ 7

where ®(r) and A(r) are two unknown (so far) functions. The choice of
coordinates is called Schwarzschild coordinates. In particular, r is %
times the proper circumference of a circle at fixed r, @ = /2, with ¢ € [0, 27),
or it is the square root of 1/47 times the area of a sphere at constant r.

Homework due Nov 14:

1. Exercise 23.4 — Find G, for the Schwarzschild coordinates 23.7 [An-
swers on page 360]

2. Show that outside the matter distribution, where 7},, = 0, &' = —A’,

/ K
and1fwerequ1re<b—>0 A—>O then & = In 1————A

comparing at large r with the Weak field solution, K = 2M and Eq
23.27:

oM 2
ds2:—(1——)dt2+ dr
T

2302 | 20742
1—2M/7“+T (d@ + sin 6d¢).

This is known as the Schwarzschild metric.

This is the metric on the outside of the distribution of matter. We will
return to a consideration of this after treating the distribution itself.

The actual physical applications are, of course, stars, and we therefore
can put off no longer a discussion of 7}, for an ideal gas.

Consider a perfect fluid, which means that a small element of fluid has an
average rest frame, in which the surrounding fluid is isotropic, suppoprting
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no shear or heat flow. In the rest frame, the energy density is p by definition
[actually in the local inertial frame with respect to which the fluid is momen-
tarily at rest]. So T% = p. There is no momentum density because we are in
teh rest frame, so 790 = 0. But there is a momentum flux. Consider a small
area in space d§ The material on one side exerts a force on the other side
equal to pdS where p is the pressure. As we forbid shear forces, the force is
normal to the surface F pdS and momentum is being transferred across
t = pdS’. But this is just the defining exapression for

T;j, so T% = pd;; in the local inertial rest frame. Thus
p 0 0 0
0 p 00
wo__ _ w, v v u, v
T = 00 p o =P +p (g™ + utu”)
000 p

in the local inertial frame. I claim that p and p, being defined in any frame
in terms of the local inertial rest frame, are scalars. Then

™ = (p+p)utu” +pg"”

is a tensor equation and must be true in any frame. [But with u the mean
4-velocity of the gas element]

This result has some funny properties quite independent of general rel-
ativity. The energy density in an inertial frame in flat space, in which the
fluid is moving with the velocity ¥ is (as u = (v, v7))

T = (p+p)7* — p = pr? + pv*y2.

The first term is just what you might expect. The
energy in a container, say a cylinder with its axis
along the direction of motion, is, in the rest frame, L

E =T"V = pAL
p=20
In the other coordinate system we might expect
E' =FE~, L' =1L/y (length contraction)
A=A (L lengths unchanged)
SO TOO/ — E//v/ —_ TOO,YQ — p’Y2,

Not right!

and we don’t see why the pressure should enter at all. What is the origin of
the second term?
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One’s first thought is that the pressure term is natural because if you
compress a gas, you do work on it, and increase its energy. But that is already
in p, which is the energy density (in the rest frame) and includes the kinetic
energy of random motion and the potential energy dues to intermolecular
forces. In fact, work done compressing a gas increased the energy in the rest
frame (where one normally discusses this issue nonrelativistically) where the
second term vanishes, as v = 0.

The origin of our paradoc lies in what we mean by the energy of a gas.
In fact, our genral impression that the energy-momentum vector is a vector
needs to be better defined.

Suppose we have a system with an energy density e(¥,t). We define the
energy of the system to be

E(t) = /e(f, t)dv at a fixed time.

Another observer calculates E'(t') = [€(Z',t')dV’, integrating over a com-
pletely different slice of spacetime.

In the case of an isolated system, this prob-

lem of different hypersurfaces is not cru- @E
cial. In general one observer calculates Vv
Pt = [, T*dS,, while the other calculates S
P = / TS,
In
_ [ 9 pgs,
v OxP
= A*¥ TdS,

4 v

————
fv4 T"”,,,d4z+fv TP”dS,,+fE Tr/nuqs,

Here V and V' are the volume integrals for the two observers, F is a 3-
dimensional hypersurface connecting V' and V', and V} is the hypervolume
enclosed. Now if T" is conserved and if it is localized to a finite region of
spacetime not including the “edges” E, we have P* = A#,PY as expected.
But for a fluid element under pressure this isolation is not possible. Either
we are cutting off the volume integral where there is still 7}, or if by 7, we
include only that of the gas and not the container, then 7}, is not conserved
because it leaves the gas at the walls.
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How much energy is contained in the fluid in the cylinder? Arrange to
pop the lids of the cylinder simultaneously, so the gas spills out without any
work being done. Afterwards the gas is isolated and the energy of the gas is
just what it was when it was contained.

Now if observer C' = x, riding with the cylinder, pops the lids off simulta-
neously, the final escaped gas will have an energy (in his reference frame) of
[T%.dVe = pALc, and total momentum P = 0. This isolated gas, observed
by the 2’ = laboratory observer Oj,}, must therefore have energy

E' = yE¢ + P, = yEc = ypAL,

but this is not the energy which was in the gas to begin with, because,
according to O),y,, the front lid at A popped at time ¢ = v*0L’ later than
the back lid at B. During that time the fluid was exerting a force on the
front lid, which in the cylinder’s frame had components (F* = (0,pA), giving
rise to a net transfer of momentum (0, pAAt) = (0,pAL/v) from the gas to
the walls. This momentum has been included in what Oy,;, considered the
fluid’s 4-momentum before the pop.

So converting to his frame F' = t’
vE + yvP = ~yupALv So the to- t
tal energy in the fluid before the lid
popped was

E' = AL(yp +vv°p), X

and the volume V' = AL =
AL/gamma, so B

]
T/OO — El/vl — 72p+72v2p X

as required by the tensor argument

A=({t=0,z=L)= ' =t,,2))
t' = vt + yvzx, so t|, = ywL = y*vl’
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0.16 Perfect Fluids

Consider a small volume element of a perfect fluid, with

p = energy density in the local inertial rest frame

p = pressure in the local inertial rest frame

n = baryon number density in the local inertial rest frame
ut = four-velocity of the element

(=(1,0,0,0) in the local inertial rest frame

T — (,0 -I-p) uPu” +pg””.

If a star is to be static in the Schwarzschild coordinates, " = u’ = u? = 0,

and gy (u)? = —1, so let ul = =) T0 = pe=2® T = pe=2A0) 79 — %,
,
p
T% — ,
r2sin® f

™, = (p+p)uu” + (p+pu” u” + (p+ p)T*, ulu”
+(p+p)ut u”, +p.g"”
~~

v
u v +Iv,,uP

0
= (p+p) o)+ (p+p)u"u
iyl

0

+(p+p) [ oo () +T%, 0" | + prg"”
—
g—1/26091/2:0
= (p+p) o @) +p.g"
—
6#@/62{&1’—A)
= ()7
so we only get an equation fro, u = r,

(p+p)® +p,=0.

The equation G, = 87T, will determine ® and A in terms of p and
p. The equation 7", = 0 gives differential equations for p and p analo-
gous to those one findes in Newtonian physics, but not enough to find p
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and p. We also need an equation of state for the fluid, in the form, per-
haps, of p = p(p,T), p = p(p,T) or similar equations in terms of entropy,
p(n, S). In practical applications there is some approximation which permits
a simplification. For example, white dwarfs and neutron stars are essentially
degenerate fermi gases, with temperature far below the fermi temperature.
Therefore p and p are affectively independent of T" and are functions solely
of n, which determines the fermion density.

Let us return to Einstein’s equations. in terms of the orthonormal basis

1

1
—® —A
e =e "0 e; = e 0, e; = -0y e, =—
t ’ " " 0 7" ¢ rsing

you should find

Gy = iQ (1 — e_QA) + 2e_QAA'

call this 2m(r)

so m(r) = / 4rr?p(r)dr, where we require m(0) = 0 so g won’t be singular
there. m(r)ois the mass within the radius . While this might seem obvious
because p(r) is the mass density, it isn’t obvious. p(r) is the mass per unit
proper volume. The distance between r and r+dr is e*dr, not dr, so m is not
the sum of rest mass energies. The rest mass energy in the shell is therefore
Amr?p(r)(1—2m/r)~Y2dr so the extra term —4wr?p(r)[—1+(1—2m/r)~Y?]dr
is the gravitational potential energy, and o 47rr2p%.

Let’s review:

ds* = —e*dt* + *dr® + r?dQ?
™ = (p+p)uu’ +pg"”
Gm = 8nGTH
From T, =0, (p+p)® +p, =0. Define m(r) = [q 4mr'2p(r')dr’.
2G
From Gy = 87G Ty, ﬂ =1
r

From your homework:
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_ 1 —2A 2 —2A ! _
GW——T—2<1—€ )+;€ ®' = 8nT; = 8mp
N — — m
_2m(r) (1_27)
3
o — drpr+ 7 Awr’p4m
- 27’” r(r—2m)
B 1 dp
 ptpdr
The last equality is known as the Oppenheimer-Volkov Equation.
d,
Compared to the nonrelativistic form d_p = —@ the Oppenheimer-
r r

Volkov equation
dp _ (p+p)(m+drrip)

dr r(r —2m)

requires a larger dp/dr at the same r. Thus the pressure must rise faster as
one penetrates the star.
We now have a set of coupled ordinary differential equations for m (equiv-

d d
alently A), p, and p: d_?;r} = dmr?p(r), d—f = Oppenheimer-Volkov,

and the equation of state p(p). These can be solved numerically given the
equation of state. The procedure is to start at the origin. Choose a p(0),
integrate out until you get to zero pressure, which defines the surface of the
star. You don’t know in advance what mass star you will get, so you adjust
p(0), and try again, or run a series of values of p(0).

Sometimes it is nice to have an analytic solution to think about. Artificial
equations of state may have analytic solutions. If p(p) = pO(p), a star of

T
constant density, then clearly M = mass of star = gpgR?’. The solution

. 1-\1-2M/R
e T—aMJR —1

4
Note if R = Ry, = (37Tp0)_1/2, M, = §Rmm Perm = 00 is the limit to how

much mass one can stabily insert.

gives

= central pressure.
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The solution for the metric gives trivially

2 -1/2 —1/2
e = 1_M :<1_8_7Tp0,42> :§7
r 3 dr

where s(r) is the proper distance to the origin. This geometry may be pic-
tured if we forget about time and one spatial dimension, as a two dimensional
curved surface which, in our imagination, we may enbed in three dimensions.

The z dimension is physically meaning-
less, used only as room for the two di-
mensional world to curve. As (ds)? =

d 2
dz* + dr* = (dr) 5 for fixed angle,
r

-z
z = 3 \/1— 8—7rp07"2, which is a piece r
8T po 3 R

Po
of a sphere, of fixed radius. The spherical
arc extends out to the radius of the star.
Thereafter,

A_< 2M>_1/2_d5
A=(1-22 ==,

r dr
dz V2M

or —=-—— z=vV2M~'r —2M + const.,
dr r—2M

so we have a paraboloid.

We see that the geometry can be weird, and that in particular the proper
distance to the center (call it the radius) may increase faster than r = circum-
ference /27. In fact, if the spherical piece continued we sould find the surface
of a spherical shell at radius s would approach a maximum and tehn decrease.
The maximum is at ds/dr = e = oo, or 2m = r. Thus dp/dr = oo, and in
fact, not integrable, so this is impossible withing the confines of our static
assumption.
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0.17 Particle Orbits in Schwarzschild Metric

Consider a freefalling particle

Pat L, datd

dx2 YPdN dNT
We may choose our spherical coordinates such that, at one instant of time,
0 =m/2 and df/d\ = 0.

d20 do dr do\>
Then — = —2r% — — — T’ (-)
d\2 o dX\ d\ J;’i dX
0 — 5 sin26=0

so the orbit remains in the equatorial plane § = 7/2; and df/d\ = 0 always.
dzt
Let p" = d—x)\, which will be the momentum if A = 7/m. p*d, is a vector.

p’ = 0. Consider the claim that py and py are conserved:

d d 0 goo o 0

L -2 — J0o — ol oV

d/\po a (goop ) ax P —gool PP
~~ —
900, PH 200, pOpr

as the rest are zero.

But gool’y, = 3900,r S0 we get goo.2"p° — goo,p"p" = 0, and py is con-

served.

Similarly 5y = Goop \pi p¢ — Ty P71,
o unless 0 if =0 pr=¢r,ré
p=r OI 6

and in the second term Lyg, = 2940, SO We get zero. Thus

po = —F = constant

Py = L = constant

If the particle has mass, we choose A = 7/m. If not, choose A so that
p is the momentum, and set m = 0. Either way, ¢"p,p, + m? = 0. We
need only consider the geodesic motion outside the star (as within an orbit
is improbably, and not free falling!). So
o_ 1 oMy 1

o 9”21—77 g
T

on the orbit, and
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E? ar\? 1 L,
—@ + a @ + ﬁ +m° =0,

2 2
or <ﬁ> = E? —V*(r), where V? := (1 — %) <m2 + L—)
dX r r
Case 1: m #0 V2
We now have a classical problem
of a one dimensional motion in a
potential. If F is at the level A, 1—
the particle moves in an orbit which
comes in to 75y, out to rmax, and
back again, repeatedly. In Newto-
nian physics this would be an el-
liptical orbit. If the energy is at
B, we have an unbound orbit, with

the particle coming in to rmax and \V. _
then going out to infinity. This eff ’p\)loetvg:gglavr\]/ith
is a hyperbolic orbit in Newtonian B Lz0

physics. But a particle coming in

with E at C crashes into 7 = 0 even M

though L # 0, which Newton would r

min I'max
never have.
The stable circular orbit occurs where
dv? d?V? 0 Note L dv?: oM 2I? N GML?
— =0,—— =0. ote —— = — — —
dr " dr? m2 dr r2 r3 74
L2 4 \/L* — 12M2L2

where L = L/m. Then 7¢jpcle = oM

If L2 < 12M?2, there is no stable orbit. The particle will either escape to
oo or crash into the center. The smallest stable circular orbit is at r = 6M.

The other root of the quadratic equation corresponds to an unstable orbit.
For fixed M, the smallest r corresponds to L — oo, 7 — 3M.

The orbit is governed by the equations

dt oM\t
= p"=9¢"p = (1——) E

d\ r
do . . L K
A LIt T
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(%)2 = E>=V*(r).

Example: suppose a particle is moving in a nearly circular stable orbit.
L2 +\/L* — 12M2[2

Let ro = Wi ,and r &~ 1. Thus VZ(r) = V2(rq) + %(r —
1 d?V oM 3L 12ML?
2 &2V 2 _ 2@V o] 2V B
o) Gz . Let k 2 07| [ 3 —Té‘ 77“8 . Now

dr\? €
<ﬁ) :EQ—VQ(T’):€2—]€2(7“—T0)2, SO T’:TQ‘FESIH/{J)\.

Thus one trip out from the smallest radius (periastron or perihelion) to the
next takes A\ = 27 /k. During this time ¢ increases by

37/2k d Ld\ 2r L €
o < [t o)
¢ —r/2k dA (ro + £sinkX)?  krg +0 rok

oM 12M71~Y?
= 27 [— = 70 +3 - } .
L2

To

72\ 2 74 B B 2 ~1/2
But <r0 — QL—M) = 4?42 —3L% or L? = %, and A¢ = 27 {1 — %} .
For the Sun, My = 1.99 x 10%kg, G = 6.673 x 1071'm3 /kgs® = 7.4248 x
10 2c*m/kg, so My = GMg = 1,477.5 m.

For Mercury, 79 = 5.79 x 10'® m, so A¢ = 2m(1+3Mg/ro) = 27 +4.81 x
1077 rad. The perihelion shift ignores the 27, so the shift is A¢ = 4.81 x 1077
rad/rev. Mercury revolves with a period of 7.60 x 10° s, so in a century it
makes 415.2 revolutions, and

A¢ = 1.997 x 10~ * rad/century = 41.2 seconds of arc/century.
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Case 2: m =0
2
dr\> \Y/ 1
=) = E2_V? - —~—
V2= L_2 ( — ﬂ)
r2 r
For a photon coming from infinity, ;
with impact parameter b,

L:qu:rp&:r\ﬁ]singb:bE,

dr\’ o[ b 2M
b \p$ i (ﬁ) = b {172(1_7)}
+ d
/K b = = gL =B

dt 00 E
a7 1—2M/r

Note under A* = E ), all equations lose dependence on E — the motion
is independent of the energy of the massless particle.

Does a photon coming in get out again? The maximum of V2/b?E? is at
r = 3M with value 1/27M?, so for E? > V2 = 2TM?b*E? or b < 3v/3M,
the photon will not turn around in r. That is, it will spiral in to r = 0,
despite its having a nonzero L.

If b > 3v/3M there will be a turning point rp for which dr/d\ = 0, at
ré = b (1 — M)
T )

T
Consider a photon at a point 7, with momentum p, = (—FE,p,,0,py).
Define the angle to the r axis by tand = p 3 /p#, where we use orthonormal

coordinates

1 bE
Py = V9 Pe = e =
2MN 2 b 2MN\ )
P = N Yrr =1-— E<l1——(1—— s
P oo P ( T ) { 7“2< r )}

so we see that

_oM)/2 2 oM -1/2
P L

3/2
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A given angle determines b, and b at a given r determines whether the photon
winds up at r = 0 or at r = co. Especially interesting is r = 2M + Ar, where
Ar is small. Then escape requires p, > 0 and b > 3v/3M. The critical angle
is therefore

V2TM (Ar)? orM?
tand = DI 1— SV Ar x VAr,

s0 0 o< v/Ar. A smaller and smaller cone of rays can get out as we approach
r = 2M. We shall see later that within » = 2M, no light can ever escape.

A curious feature of this equation is that, for an incoming ray with b
just slightly greater than 3v/3 M, dr/d)\ becomes very small not only at the
turnaround but for a long A around it. If a roller coaster has just slightly too
little energy to make the hill, it takes a long time to turn around. Here it is
not time but A which we have in our equation, but

dt 2M 1 dp L bE
d\ ( ) 3 awd TR ar

are both perfectly nonzero, so ¢ and ¢ both increase by arbitrarily large
amounts as b — 3v/3 M. The photon makes many orbits around the star
before finally getting away!
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0.18 An Isotropic Universe

The progress of physics was stymied for about 1700 years by the notion
that the Earth was at rest in a preferred reference frame. When it was
finally realized that this is not so, the reaction was very strong. With special
relativity our prejudice that geocentrism is wrong and any frame is as good
as another because dogma.

We therefore have a very strong feeling that one point in space is like any
other (homogeneity), and one direction in space like another (isotropy). when
it comes to cosmology, we must to some extent temper our statements about
all Lorentz frames being like others, for there is clearly a frame in which the
matter in a neighborhood of a few hundreds of millions of lightyears is at
rest, the local rest frame.

We now know that the clusters of galazies are flying apart with a speed
proportional to distance. Unless matter is being created (a violation of
T, =0, hence “unthinkable”), this implies the universe was more dense in
the past, so it is not true that one time is like any other. The best we can
salvage seems to be this:

(a) On a sufficiently large scale, each point in space (each grand neighbor-
hood really), in its local rest frame, looks the same in every spatial
direction. (Isotropy)

(b) For to such pictures at the same time, the pictures are the same. That is,
physics is independent of the particular spatial point. (Homogeneity)

What does “at the same time” mean? there exists a series of spacelike
hypersurfaces which we may parameterize by ¢, such that for ¢ = ¢, physics
at 7 in the cosmological fluid’s rest frame at Z is the same regardless of choice
of Z.

Consider the world lines of different elements of the fluid as we pass from
one hypersurface ¢; to another t5. The physics must be the same, so 47 is
independent of Z. We might as well use proper time as ¢, so ggg = —1.

The velocity of the luid at ¥ is u = dt. Let us establish three directions
within the ¢ = constant hypersurface. Given a vector v in this hypersurface,
u-v =u-—Vv by isotropy, so gy; = 0.

Take a particulal “fiducial” hypersurface t = ty. Erect a spatial coordinate
system any way you like on this hypersurface, with metric

g(7) = dt ® dt + v;;(7)dzr’ @ da’ for 2% =t,.
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Let the coordinates of any event in spacetime by given by 2° = 7 measured
along the fluid world line, and 27 = 27 of the fluid world line when it passed
through the fiducial hypersurface.

What is g at this point off the fiducial hypersurface? Consider the motions
of all the neighboring peices of fluid. Their distance apart may hva changed,
but it must have changed by the same amount in all directions, and angles
must have stayed the same, by isotropy. Therefore g;;(t) = a*(t)~;;, and

(d8)2 = _(dt)2 + GQ(t)’YZ‘j d&?l & dl‘j.

Choice of the spatial coordinates:

Any point is like any other. Take a particular point and call it x = 0. Assign
x’s to other points by the distance away from y = 0. Thus x is a kind of
radial coordinate.

Consider the two dimensional surface x = constant. This, at least for
small enough y, must be a sphere. Choose one such sphere and erect spher-
ical coordinates 6, ¢ on it. All directions on this sphere are isotropic, so
Yijdridr? = (dx)? + b*(x) ((d9)2 + sin? 9(d¢)2) by the same argument with
which we decomposed g into (dt)? +v. We extend § and ¢ coordinates by
geodesics. Ratios of distances must stay the same by isotropy. We choose b
such that b(0) = 0, b'(0) = 1, so for sufficiently small circles the circumference
c=2my.

We now calculate the curvature of the three dimensional space.

9ii 9o =1 G0 =0w=0, goo=0"(X), ges="0b"(x)sin’6
Giji = 0 except goo, = 2bb',  Gppy, = 200 sin? 4, Goo0 = b? sin(26)
SO

X = —bb', I, =—bb'sin*f, other I';; =0,

1 1 1 )
FGGX — 59669997x = ¥/b, F9¢¢ _ 5966%@,0 = -2 sin 26,

1
F¢¢x =10'/b, 7¢¢9 = §g¢¢g¢¢,9 = cot .

0 0 0 0 - 0
De=o,+|0 v/ 0|, Dy=d+|t/ 0 0
0 0 /b 0 0 cotf
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0 0 —bbsin?6

Dyg=0s+| 0 0 —5sin2f
b'/b cotd 0
0 —=b" 0
[DX, DG] — b///b O 0 : RXOxG — —bb”; RQXXG _ —‘rb”/b;
0 0 O
0 0 —bvsin?0 X P
R = —bl" sin” 6,
[DX’ D¢] = 0 0 0 : ¢)§)¢ //ln
v'/b 0 0 R\ = +0"/b;
0 0 0 0 .y o
R = 0(1—b'%
[Dg,Dy] = |0 0 (1 —b2)sin?0 |; ¢9¢¢ sin® 6
R — b/? -1
0 v2-1 0 00
(i=x) (i=10) (i = 9)
R = g"Ry= 0 —v"/b —b" /b (G+x)
—0"/b +0 77 (j = 0)
_b///b +(1_b/2)/b2 +(1 _b/2)/b2 (j:(b)
B _4b_// N 21 _ b/2
= ; o
Homogeneity requires this to be a constant, say 6 K.
Solutions: (1) b= K~'?sin(VK x) for arbitrary K
VK = iVK: (2) b= K~/2sinh(VE y)
limg o (3)b=x

These are the only solutions to the homogeneous isotropic problem. They
correspond to

1. A closed universe. the radii of the 2-spheres (surfaces of a ball) begin
to shrink after y > n/v/K, and shrink to zero at Vkx = n. Thus y
only ranges up to 7/v/K, and the world has a finite volume

/\/gdxddzdez/b2sin9dxd¢d0:47r/62dx

VK f
= 47TK_3/2/ sin? (VK x) VK dy = 2 K=3/2

0

Vv

[This is easily pictured by surpressing one dimension as a surface of a
sphere.]
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2. An open universe. Here x can grow without limit. The surfaces of
spheres grow more rapidly than (radius)?.

3. Flat space, with y = r and the usual spherical coordinates.

In writting the 4-D metric, it is more convenient to scale y, as there is a
constant in front of v;; anyway. Let x' = VK x, so

v = K 'dY)? +sin®X' *Q (K >0)

v = —K7YdY)?+sinh? Y d*Q (K <0)
and
sin? x
(ds)*~ = —(dt)? + a*(t) { (dx)* + sinh® x ((d0)? + sin® 0 (dg)?)
X

choose world

Einstein had a very strong prejudice in favor of a closed universe. Physicists,
especially general relativists, have a very strong prejudice in favor of Einstein.
So let us work out the case'! for which the universe is closed, and use sin? y.

[This seems inappropriate to do:] We will accept the book’s [MTW] cal-
culation of G, as I'm sure you are not anxious for yet another curvature
calculation. Ggg = 81T gives

3 (da)*, 3
a2 \ dt a2 o

We need an equation for p, which can be a function of ¢. From TO”;V =0=
T, +1°,T7 +17,T% T% = p, T% = 0, T = pg", so we need I'’;; and
|

1 a

0 — _ 0 50
U, = om0 = (glw + 6u5u>

y 1, a . a’
Mo, = 5979 —pr,0="9"g;; =3

1 But we now have new information that seems to favor a flat universe with a cosmo-
logical constant.
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SO
1 /

a s a
0=p;+— <gijT” +3p) =ps+3—(+p).
a a

Now we need to know p. Here we need an equation of state.
Case 1: Gas of matter with m > T.

Recall that for a gas of noninteracting particles T = ¥, [ dr §*(a# —
rMYmulu?. In the rest frame of the fluid, therefore, p = T%~% ~ m~? while
p = Ty = mv?~%. If the particles are moving nonrelativistically with respect

to the fluid “background” at their location, p > p, and we may ignore p in

. . Ldp 3da 4

the conservation equation —— = ———, or p x a™°.
p dt a dt

It would be naive to say “of course, the total energy of the universe is
o pa® and is constant”, because p is the matter energy density (without
gravitational energy).

The situation is quite different if the particles are ultrarelativistic, i.e. with
v very nearly equal to ¢ with respect to the fluid rest frame. Photons and
gravitons are always ultrarelativistic, and neutrinos almost always. Other
particles are also relativistic if the temperature 7' > 2m. (We are choosing
Boltzmann’s constant kg = 1. In conventional units we mean kgT' >> 2mc?.)
There are no known particles which have small enough non-zero mass to sat-
isfy this relation now, but near the beginning it was hotter. At 7' > 10'0°K,
electrons were ultrarelativistic, and so on.

Suppose that the universe is dominated by radiation (or ultrarelativistic
particles). Then

T= Z/E(l,ﬁ) x (1,7) where v? =1,

Averaging over directions, assuming isotropy of course, p = 3p, and

@——éﬁxé or oxa?
dt ~ adt "3 poea

Thus the energy density times volume is not conserved — rather it is inversely
proportional to the size of the universe.

Consider what is happening. We have assumed the number of photons
doesn’t change, though not in a crucial way. If theere is relatively little matter
around, a gas of photons will actually have the number of photons conserved
because ther is not matter for them to interact with. Thus the energy per
photon is falling with th expansion of the universe. That is, the wavelength
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is proportional to the “radius” of the universe, just as if the photon were a
standing wave in an adiabatically expanding container.

These two cases are extreme simplified cases, but they cover the recent
history of the universe pretty well [NO — DARK ENERGY] Let us write
p x a”" with n = 3 for a matter-dominated universe, n = 4 for a radiation
dominated universe (and now n = 0 if dark energy dominates!).

Thus Einstein’s equation tells us

3 (da\* 3 _k
a2 \ dt a2 an

= 0, (where we can replace

ora’+1—
an72

the +1 with —1 for an open universe).

As the universe expands, eventually k/a"
becomes 1 and a = 0, thereafter it falls
back in.

Thus the closed universe which led to our form of Einstein’s equation is
required to grow to a maximum size, and then collapse back down to zero.
If we had assumed the open universe with sinh? y instead of sin? y, the
sign of the 3/a? term is reversed. When the universe is very young, a is very
small, and the +1 is negligible. But as a gets large, the =1 term dominates.
For the open universe @ can never vanish, so the expansion continues forever.

dt
At early times, we may write, approximating @ = ka®>~"/2, or Ta x aén*l,
a

n/2

t oc a™*, or

@ o $2/7 23 matter
’ t1/2  radiation

This is the reason for the peculiar statement that, even in a closed universe

which started at a point (of zero size), there are points of the universe we

can not yet see. Consider a photon starting out as x = 0 at t = 0, travelling

in the § = 0,¢ = 0 direcction. Then dx = L x t7m
dt a(t)

Thus it has gone only a finite y, (which is a form of spherical angle) since

the beginning. If we are separated by more than the present kt'~2/™ we can’t

see this event yet but will be able to later on.

. so y o i

By the way — you can’t see the back of your head! If the photon left the
back just after thebig bang, it will be approaching your eyeballs (along with
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everything else, but faster) just at the big crunch when the universe collapses
to a point again.

Read Chapter 28 but skip box 28.1. You might also like to read Ch V of
“The First Three Minutes”.

Notice that Stephan-Boltzmann assures us that in the radiation domi-
nated phase the energy density is p = KT% oc a™, so T o< 1/a. Therefore it
was very hot at the beginning.

If we try to extrapolate the history of the universe back in time, say
to time about 1 second, the temperature was so hot that all atoms were
dissociated. In fact, even nuclei were dissociated. As time went on, a o /™,
T o t=2/™ the temperature cooled to a point where free neutrons would
decay, but also nuclei could become bound. This period, with ¢ ~ 2 minutes,
is when most of the deuterium and helium and lithium currently around was
formed. After a brief period the nuclei were no longer sufficiently energetic
to fuse.

the world was still too hot for atoms, and we had a plasma, in equilib-
rium with electromagnetic radiation. As the temperature dropped to three
or four thousand degrees Kelvin, at about 10000 years, nuclei were able to
bind electrons, and atoms formed and the plasma disappeared. Suddenly the
universe became rather transparent to radiation, and so the black body radi-
ation present at that time has continued, unscattered, to this day. However
the wavelength has grown along with the universe about 1000 fold, so the
temperature of this blackbody radiation has fallen to 2.7°K. The detection
of this radiation by Penzias and Wilson led to the Nobel Prize in 1978, the
year before I first prepared these notes.

The black body radiation is a great success of the Robertson-Walker met-
ric. But it is also an embarrassment of sorts. Tests of the isotropy of the
radiation have shown th temperature to vary by less than one part in a thou-
sand in the local fluid rest frame. Thus the homogeneity of the fluid in the
early universe was very good === all in equilibrium. But the universe we
currently see consisted of many regions which had never had causal contact!
How could this perfect homogeneity be established? This is called the hori-
zon problem. A pssible solution comes from pushing even further back in
time.

In the very early universe, the temperature was very hot and falling very
quickly. At very high energy, the elementary physics is radically changed.
For example, the objects which we consider particles are in fact composites of
inseperable quarks. But at very high temperatures quarks are not expected to
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be confined. This corresponds to a “false vacuum” state which has a different
energy density from the true (temperature = zero) vacuum. At even higher
temperatures, a grand unified symmetry may be restored, and the physics is
best described as particles over a false vacuum of enormous energy density.
As the universe cools, it would remain in this state for some time after the
energy is supercooled. thus the major contribution to the energy density is
just the extra energy density pg, which this state contains, independent of a.
2
da 8T .

Then (E) +1= ?pOGQ + k'a™?, where py is from the false energy of

the vacuum and &’ is from the excited quarks.

As a grows, the ppa® term dominates th 1 and the k’/a?, and we have

da _ [87ho a, or a(t) oc eV8P/3t
dt 3

growth at an exponential rate. But because the false vacuum is unstable,

it will decay and turn its energy density into radiation, so eventually this

exponential growth phase will stop, and lead into a more normal expansion

of a radiation dominated universe.

Now if we extrapolate our present universe back in time to the beginning
of the era of radiation domination of the current vacuum (at a time on the
order of microseconds) the current universe consisted of causally disconnected
patches. But if we extrapolate backwards the exponential growth, the size of
this universe is much smaller, and could well have been causally connected
and in equilibrium at very early times when SU(5) or some larger symmetry
controlled the physics.

/subsectionThe Hubble Constant

Given two elements of fluid at separation Ay, the distance between them,
a(t)Ay is increasing at a rate aAy, so at early times

velocity of separation @ 2 .
= =—=_ I independent of .
a n

separation

It is not constant in ¢, and furthermore H~! = nt/2 is an overestimate (by
50% if matter dominated) of the actual proper time. So if the Earth is ~ 5
billion years old (proper time),

H™' > 7 % 10° years
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or we have a contradiction. If some globular clusters in our galaxy are ten
billion years old, as claimed by people who do stellar evolution studies, then
H > 15 x 10° years. Direct measurements of H yielded 18 billion in the mid
70’s , but just as I was teaching this course for the first time, November
79, Walter Cronkeit announced it had fallen to 9-10 billion. The Rutgers
Astrophysics group at the time said they didn’t believe it.

There has been tremendous progress measuring the parameters of the uni-
verse since I first prepared these lectures. Much of this is based on precision
measurements of the cosmic background radiation, the black-body radiation
we mentioned earlier, but now its angular variation has been studied exten-
sively. We also have much better measurements of distance versus redshifts
to large distances. The current measurements point to about 13.5 billion
years.
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0.19 More on the Schwarzschild Geometry

Recall
oM oM\t
ds? — (1 _ T) a2 + (1 _ T> dr® + v (d6° + sin® 0dg?) .

What happens at » = 2M 7 The best way to find out is to go there. Might
as well fall freely, radially,

—1
dat (1_ﬂ) B b= E/m
dr

.
d = - - 2M
d—r = VB2V V2= VYmP=1-22 if L=0
T T

= + E2_%_1

r

We might as well fall in from infinity from rest, so £ = energy at oo, = m,

and

dr 2M /2 T

E—— 7, or W——erconst.
We take infinitely long, of course, to fall in from infinity, but from any finite
distance it takes only a finite proper time to pass through the mysterious
r = 2M and hit » = 0. Choose the constant to be zero (set clock).

What about t?
dr

t= Znt@ %dr,

d
but d—T = —Vr2M — —1 at r = 2M, so the integral diverges as r — 2M,
r

dr r
—2MM, zM/ ~ —2M1 (— - 1) .
T — t— o n Wi + const

What does this mean? Does it mean the falling physicist never gets to
into teh Schwarzschild radius? Not at all, from his own point of view, he
sails past without a glitch at 7 = —2M.

t is only a coordinate, not necessarily a good “time”. But it is times in a
sense. Outside the Schwarzschild radius, the paths of possible travel (forward
light cone) are always with At > 0. So photons leaving the physicist and
reaching an observer at oo, or any other point outside r = 2M, do so after
time t if they leave at coordinate ¢. Thus the observer at infinity, or even
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at some finite radius > 2M, never sees the free falling physicistenter the
Schwarzshild radius.

The atoms in the physicists skin or spacesuit vibrate at their usual speed
in proper time. But as we approach the Schwarzschild radius, this takes
divergingly long in ¢. thus the outside observer sees the free falling physicist
as redshifting away, barely visible just setting almost at the Schwarzschild
radius.

I have spoken as if nothing unusual happens to the f.f.p. as he passes the
S.R. But is not the metric singular there? The metric is a choice of coordinate
system, not a physical quantity. What about the curvature? Components of
the curvature tensor will be singular simply because our coordinate system
is. To find out if something really terrible happens, we will attempt to set
up a local inertial coordinate system. First start with the static orthonormal
frame in which we calculated G. the curvature components in this frame
are all oc 1/r®, with nothing funny at » = 2M. But this is a funny frame,
for a particle sitting “at rest” at r = 2M has (ds)? = 0dt*> + 0 = 0, so it
is lightlike (tracelling at the speed of light, in some sense). Let us instead
choose a new 2° = 7 so dz = u. the new orthonormal frame is related to the
old (at r > 2M) by a Lorentz transformation. As r goes through 2M, this
transformation is still possible but becomes a Lorentz transformation faster
than the speed of light. Thus the ffp inertial system and the Schwarzschild
orthonormal fram are not both physical rest frames. Which is unphysical?
The Schwarzschild, for at r < 2M, a particle “at rest” with dr = 0 has
(ds)* = — (1 - %) dt? > 0, spacelike, so is moving faster than light. There
can be no such physical objects.

MTW assures us that in the local inertial frame

2M
Ripip = —— 5 = ~Rg405 = 2Mgr0 = 2R;4:5 = —2Rg509 = =235,
all others zero, so nothing singular happens at r = 2M

We are getting a strong impression that the singularity is not real, but
a coordinate singularity. to get an idea about such things, consider a flat 3-
space, which certainly has no physical singularities, in spherical coordinates.

1
r2sin? 6’

(ds)? = (dr)?* + r(d)? + r? sin® O(de)?, g% =

singular both alond r = 0 and along 6 = 0.
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If you are given a 3-D coordinate system, you expect theta = 0 is a plane.
But it’s not — theta = 0 is a line. What is r = 2M? in 4-D space we would
expect it to be a hypersurface, with a three dimensional volume

/ JGugendesdtddde = dm(2M)? / Jaudt =0

. So perhaps it is two dimensional. Surpressing 6, ¢ coordinates, which are
not singular there except at 8 = 0, 7, we have what we might expect to be a
line (r =const, ¢ arbitrary but finite) is really a point in 2-D spacetime.

There is a long motivation in the book, which will take you through
Novikov coordinates, Eddington-Finkelstein coordinates, and then finally to
the Kruskal-Szekeres coordinates,

u = 1/2L — 1e"/*M cosh(t/4M)
u = 1/ﬁ—ler/4ﬂlsinh(t/4M)

for r > 2M, which maps the region r» > 2M onto u? —v?> > 0, u > 0. The
“line” r = 2M, t finite is a mapped intot he point (0,0). Every particle

=

falling into r = 2M has t = —2M In(r — 2M) + k, so cosh(t/4M) and
sinh(t/4M) — (35 — 1)7"2¢*, so u = v (a line) corresponds to the locus

of points passed by different particles as » = 2M, more sensible than all
particles falling in at t = oo.

From u? —v? = (ﬁ — 1> "M we get 2udu—2vdv = (2;)2er/2Mdr. From

L = tanh(t/4M) we get

u

dv v 1 1

S S
u w2 T aM cosh?(t/4M)

or udv — vdu = 3, (ﬁ - 1) e"/?Mdt. Then
2M dr?
(=) T
2M -1
=—(4 )27 (ﬁ - 1) (udv —vdu)®e™™M

-1
— — 1> ™ (udu — v dv)®
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= (4M) TM (m — 1)16T/M [(u —v )du — (U - )dv }
= 32% (du dv2> e /2

The singularity has disappeared.

Note r is now a function of u and wv, F-v2
given by
(_ _ 1> oT/2M 2 2 2M
2M '

so r is a single valued function of u? — v?

until r gets to zero.

What happens to a particle falling in? It is easiest for a photon, which if
radial (df = d¢ = 0) satisfies du? = dv? just as in flat space. The solutions
are

—dut+k u— =42k kzz(i—1> r/2M
U v+KR, u v vk + oM e

At large distances for finite k, |t| must also get large, and we have

+2ksinh ¢ /4M = ‘/ﬁ — ler/AM, or E£t~r  (+In terms).

Thus the incoming photons are with a — sign, outgoing with a +.
The path of the photon is a straight

line which eventually hits v? — u?
1 (r = 0) where the curvature has ’ v W
a singularity. We cannot go past

there. But nothing unusual hap- <
pened at » = 2M. The u, v co- 1 || X |
ordinates continue right on in, al-

though the connection with r and u
t no longer apply here. The an-
alytic expressions give ¢ an imagi- .
nary part, which, if ignored, gives |V\*
the connection T

b /¢ r=2m

— "M ginh(t/4M)

v o= /11— "M cosh(t/4M).

oM

i*i*
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Consider an outgoing photon at r > 2M. It has a line u = v+ k. Perhaps
it was created at an event with » > 2M. But let us ask how far in it could
have come from? As we push back further to |u| = |v|, r = 2M, nothing
singular occurs, and the photon might have come from even further in, right
from r = 0, v2 — u? = 1. The only difficulty is to see how anything could
have got there to start it off, for no particle which was ever outside r = 2M
can later be found in the region IV of the Kruskal-Szekeres diagram.

Consider our freely falling physi-
cist (ffp) again. After passing r =
2M, in a panic, he forgets his gen-
eral relativity and tries to beam a
message for help outward. the light
ray, of course, does not escape, it
eventually crashes into the hyper-
bola of the black hole. The pho- P
ton is spied by another ffp, (#2), |
who chooses to spend his last mi- e S
crosecond speculating on how far AVAR
back it could have come from. So
he extrapolates it back, and finds
that it might have come from out-
side the Schwarzschild radius. But

not from anyone he’s ever talked to before, because the region III, u <
0,u? > v2, although not separated from u > 0 by a singularity, is not causally
connected with any point in the region I. People in I and III can communicate
only after both have irrevokably sacrificed themselves in the attempt.

Recall that we discussed embedding a star’s geometry in a FEuclidean 5
dimensional space. A snapshot at ¢ = 0 and at § = 7/2 yields a tow dimen-
sional surface in a 3-D Euclidean space, which was shaped inside the con-
stant density model star like a section of a sphere, but outside like a parabola
z = /8M+/r — 2M, from the geometry inside. Now our Schwarzschild ge-
ometry has the same form outside the star. Let us consider the
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spacelike hypersurface v = 0

which corresponds to t = @
0. Then we are always out-

side the Schwarzschild ra- ) u=0
dius, and we have:

Away from the black
hole there are two asymp- ¢=0

totically flat spaces, u > 0 .%
2M

and v < 0. This is a space-
like hypersurface. It has no
ends. r

What happened to the piece of t = 0 r < 2M7 It is not connected to t = 0,
r > 2M. And it’s not spacelike, as g,,dr? < 0.

So it is v = 0 which is a complete snapshot of the universe(s), not ¢ = 0.
and it has two almost disconnected spaces.

Now we seem to have a paradox. The Schwarzschild geometry was static,
so every slice in t generates a snapshot which looks like what we have here.
Then why can’t I simple walk along on of these ¢ = constant lines and get
from one universe to another? The reason is that things aren’t really static
— the spacelike hypersurfaces t = constant are, in the Kruskal system, lines
through the origin. That is, the planes of different ¢ do not permit the passage
of time at u = 0, so successive smapshots will show an observer approaching
but never reaching u =0 (r = 2M).

We can, of course, propagate the hypersurface forwards in proper time
everywhere. But we have now gone away from varying ¢ at constant 7.
In particular, we have now included regions of r < 2M in our spaceline
hypersurface. Recall that the metric is not static in v, that is, g(u, v, 0, @) is
a function of v.
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D,
C C,

1
Dl

Successive hypersurfaces with a real lapse of proper time correspond to
changing geometry, and bridge between the two universes are only connected
for a short period.

Disclaimer: The Kruskal coordinate system and metric, with its two uni-
verses neatly joined at their singularity, is certainly a solution but probably
not a physical one. Real black holes are formed by collapse, say of a star.
Within the boundary layer of the star, the metric is no longer Schwarzschild
or Kruskal, and the other universe doesn’t exist.

But outside is still Schwarzschild. We derived S by asking for

(a) Solution to vacuum field equation G, = 877}, (for r > surface)
(b) Spherical symmetry
(c) Static

In fact, Berkhoff’s theorem states that (c) is unnecessary, that (a) and (b)
are enough to give Schwarzschild in the vacuum region.
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A proof is in the text (MTW) You’ll have to read Box 23.3 to understand
it (something we’ve skipped). I'm more interested in the motivation.

Consider an uncollapsed star, very slowly varying because of the light
being given off, and non-rotating. Outside we have Schwarzschild. Now let
it contract (maybe the core is used up, coools and collapses) to within the
gravitational (Schwarzschild) radius. The geometry outside can only change
if something tells it to, i.e. gravitational waves. And a spherically symmetric
object and motion can’t produce gravitational waves. (Easier problem to
think about: collapsing spherically symmetric charge distribution) so the
field outside, both gravitational and electromagnetic, doesn’t change due to
the collapse — it remains Schwarzschild.

That means that all the things we said about small particles falling into
a static Schwarzschild singularity also hold for the gas on the surface of the
star:

(a) No force (no p(p) can stop the collapse once the surface is within r = 2.
(b) Light emitted from the surface after that can’t escape.

(c) An outside observer can never see the final collapse. Instead he just
sees the surface fade away. In fact, the luminosity vanishes as L o
e tBVBM — o=t/26is f41 o one-solar mass star. the light coming from

AA — ot/4M for radial photons,

the surface is similarly red-shifted z = =

though many of the photons arriving late are old photons coming from the
surface as it passed r = 3M and stored themselves in unstable orbits there.
These have z = 2. Anyway, quibbling over redshifts in the last 100 us of
collapse seems silly right now.
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0.20 Black Holes with Charge and Spin

In finding the Schqarzschild metric we insisted on
(a) Spherical symmetry, so S =0
(b) no T* outside, therefore no electric field, and @ = 0

Why are spin and charge important? Because you can detect the S and @
of a black hole from far away, by the dragging of inertial coordinates and
by the electric flux. Baryon number, lepton number, etc.are not similarly
measurable from afar.

The general solution with S and @ is

sin%0
P

ds® =

[(r*+a?) - adt]2 + 2 2 + p2do?,

A 9 2
(dt — asin 9d¢> + A
(10)

a
where

a=S/M angular momentum / mass

P = r’*+a’cos’0

A = r2—2Mr+d®+ Q?

This does not look very familiar. Note only that g is independent of ¢, so it
is axially symmetric. We must give F as well as g.
F = %{ (7“2 — a? cos? 9) dr A (dt — asin? 9dq§>
+2ar cos 0 sin df A KTQ + a2) do — adt] } (11)
We will not verify that this is a solution of the coupled Einstein and Maxwell

equations, but accept it on faith. To understand the parameters, we note at
large distances,

oM oM
g — {1 _A 0(7«*2)} dt* + 2a {1 2 1] sin 0 do dt + O(r~2)
r T

+ [r?sin? 0 + O(1)] de® + [ + O(1)] d6® + [1 + O(r )| dr”.

Comparing to MTW 19.5 shows M is indeed the mass, and using r? sin” Od¢ =
zdy — ydz, we have sin® 0d¢ = €3 ”‘%‘”], with (?) 4aM =4S, s0 a = S/M.
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The electric field is

F = —(dr Adt+ 2arcosfsinfdf A d¢ + other components O(1))
T
= E.dr Adt+ B,rdf A rd¢ + other components ,
2
With E, = QQ, other components O(r™%), B, = % cosf, so p = Qa is the
T T

magnetic dipole moment.

The horizon:

Is it possible for a particle to maintain constant r? Its path must have
ds® < 0, so this can only happen if A > 0. This puts a horizon at 72 —2Mr +
a>+Q*=0,or

f=ry ::M+\/M2—(a2+Q2).

There is no horizon if a® + Q> > M?2.
We will later see that the area of the horizon is important. Lengths on a
surface of fixed r, at fixed ¢, are [dt = 0 = dr|

2 qind 2, 232
ds? = [_A“ S ) e 9} dg? + p*do??
p p
2 2)2 Aa? 1/2
so the area is / p* w sin?6 — —Z sin? 9} } dfd¢. This simplifies
p P

on the horizon, where A = 0, to
7r 2
A= / dG/) (r? 4+ a®)sin @ = 4n(r + a®).
0

Once it becomes impossible for an observer to maintain his 7, he is irrevokably
doomed to fall into the hole, to » = 0. In some sense he is already there, for
no photon he admits can get out either.

For a black hole with angular momentum, there is a dragging of the
inertial frames. We saw this effect even in the weak field approximation,
equation 19.5, but it becomes dramatic closer in, when it becomes impossible
to “stay still”. To stay put with respect to the background geometry dr =

df =do =0, so
A in?
ds* = (——2 +&29> dt*
P p

112. Last Latexed: November 19, 2015 at 11:03 Joel A. Shapiro

had better be timelike (< 0). This “static limit” is at

A asin’f = (r — M)* + a* + Q* — M?
or r=ryf) = M+\/M2—Q2—a005292r+.

Within the ergosphere it is impossible
not to rotate in the same direction as 6=0
the hole. What happens to an infalling

particle? Just as for the Schwarzschild static limit
case, the ¢ coordinate goes to co as the

ffp reaches the horizon. But d¢/dt —

(r1 4+ a?)/a, which is finite, so as t — ergo sphere
oo the orbit also makes infinitely many horizon

loops around during the plunge.

Yet all this happens in a finite proper time, with no singular tidal forces
or torques on the ffp. One may make a change of variables to make the non-
singular nature of the horizon apparent — the version in MTW is analogous
to the infalling Eddington-Finkelstein coordinate system for the Scharzschild
case, which we skimmed. Here, however, one needs to change the ¢ coordi-
nate so we don’t get all tangled up.

The Kerr-Newman black hole is a “static” solution, but we may ask what
happens if an object falls in. There is, of course, conservation of momentum
and energy (as understood in the asymptotically flat space), and also of
angular momentum and charge. Actually an object won’t put everything in,
for in the process gravitational waves, and, if charged, Maxwell waves, are
radiated, so not all the F/, p, and L go in, but whatever doesn’t get readiated
away goes into changing the M, v, S and @ of the black hole.

As

A= dr(a® +73) =4 (20 = @+ 2M M — (@ + Q1))
a small change in M, @ and J (= aM) gives
dM = 8%(114 +QdS + dQ.

(S is spin, not entropy) To evaluate «, {2 and @, we write
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dA
yrl AMdM —2QdQ + 2(ry — M)dM
T
2M Sds  S?
MdM — QdQ — —— + —dM
+r+ - M ( Qe M? + M3 )
2 9 9 2Qr 2a
= dM — ———dQ — ds
P4 R v R VAL
=A/4An
rp.— M ATQr,
dM = dA d draAd
S0 7 + 1 Q + 4maAdS,
- M 4 4
SO m:47rr+A , Q:%, @z%.

This is to be thought of as a kind of first law of thermodynamics, with A
playing the role of entropy and s a temperature.

But this first law of holedynamics is not enough — things with black holes
are not reversible. The second law is this: In any classical process the area
of the horizon cannot decrease. We can increase or decrease the charge, the
spin, and even the mass, but always subject to the constraint that the area of
the horizon cannot decrease. One may even cosider colllisions of black holes,
which may combine to form one whose area is at least as great as teh sum of
the two initial ones. This is all supposed to remind you of entropy. That the
black hole had entropy is not surprizing — after all, information about the
infalling praticle is lost — only the energy, angular momentum and charge
are remembered.

But if the black hole has entropy, in a cold empty space, shouldn’t it
radiate in a box with no entropy at all?

Classical mechanics does not permit this, and MTW only hints at an
analogy. But since then it has been realized that quantum mechanics plays
a vital role. Consider an S = ) = 0 hole, and let a pair of photons spon-
taneously emerge from the vacuum just outside r = 2M. Of course, there
is not energy for two real photons, but if the one with negative energy falls
into the hole within At ~ h/|E|, who is to object? The remaining positive
energy photon can then escape, with a net extraction of mass from the hole,
and a shrinkage of the horizon.
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The effect is that the black hole is a black body, and does radiate accord-
ing to standard thermodynamics. It has a temperature

K 2(Ry - M)
o2 A '

Note for nonrotating uncharged holes T < 1/M. Thus %—AT/[ < 0, and black

holes have a negative specific heat.

Large (starlike) black holes are so cold that their radiation is negligible.
But it is possible that right after the big bang highly compressed regions of
perhaps a billion tons of material formed little black holes with r, approxi-
mately 1 fermi (1 femtometer). Such objects could be found with a density
of, say, 100 per cubic light-year, and would radiate 6,000 megawatts, a nice
power source if you can find one.

Refs:
Hawking, Scientific American January 1977
Hawking, Phys Rev D13 (76) 191.
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0.21 Equivalence Principle, Fermions, and Fancy

Formalism

We have discussed primarily how to treat the gravitational forces between
objects. Other forces must be specified in other ways — general relativity
does not tell you what these are, but it does specify how to incorporate them
into curved space. A loose prescription is: convert all tensors in flat space to
local tensors defined in terms of tangent vectors, and change all derivatives
to covariant derivatives.

But how do you handle, for example, the Lagrangian for the electron,

L= ("0 —m)v ?

Of course d, — D, but how does D act on 1, which is not a tensor? And
what about v* ? In special relativity v* are constant matrices, and v is
neither a scalar nor a tensor, but a spinor. How does v transform under
general coordinate chart change (coordinate transformation)? It cannot be
defined!

Instead we must return to the equivalence principle. At a given event
P, set up a local inertial coordinate system £“ in a chart I not necessarily
connected tot he z* which are the variables for chart M. Define the vierbein
at that particular point to be

po 0

= 0 (12

P
In the & coordinate system we have

£——i(e) (7% _ m) b = —(€) (Do — m) v

Changing to M, we find
L =) (V"D —m) ¢

Notice that 1 is a spinor which transforms under changes of chart I. But chart
I is restricted to orthonormal coordinates'? at P, so only Lorentz transforma-
tions are permitted. That’s good, because I can define spinor representations

2More accurately, to a Minkowski space’s coordinates.
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of the Lorentz group, but I cannot define objects which transform like “spi-
oors” under the group of arbitrary changes of chart at a point, general linear
4 — 4 real transformations.

The 9’s are scalar fields under changes of chart M. That is, ¥/ (2') =
psiq(z), as long as I hold I fixed. The +’s are still the numbers the field
theory books tell me.

The vierbeins V' have two indices but they live in different charts. Thus
V~! behaves like a vector in M in the index pu, and like a 1-form in I in the
index a. Let’s agree that M indices are u, v, p, ... and I indices are «, 3,7, . . ..
I indices are raised and lowered with the Minkowski metric 1,3, M indices
with ¢, so

Va“ _ naﬁvigw _ naﬁvﬁu <V—1>u7 (V_1>#6 nw&
_ 77046557776 (V—1>“6 _ (V_1>#a .

ow we come to the crucial question: what does D, mean, acting on 1.
Recall that D(object) = 0 defines parallel transport of that object. If we
parallel transport an I basis, we must be left with an orthonormal basis, so

(Dﬂea) = wuﬁaeﬁ’

B

., must be a generator of a Lorentz transformation,

where the matrix (w),)

(Wy)ap = (Wu)[aﬂ]'
If T take a vector u and express it in the I chart,

(Dyu) = Dy(u%es) = (D,u®)ey) + u®(w,)"
= uﬁmeg, S0 uﬁm = uﬁ)u + w#ﬁaua.

Of course we may also express u and D,u in the C chart u = v”E,,, where
the basis E, in M is connected to e, in I by E,,Vﬂpeﬁ, so u’ = Vﬂyu”,
w = (V1) 3’ =V, 'nuu®,

Dou = [u”# + F”Wup] E,

— v, B v B
_ {(VB W) T,V }V’Le7

[uv’# + uﬁwuvﬁ] e,
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S0
wu% =V V,UV'YI/ +17,, VsV,
What about ,?7 We must have
(Dﬂw)a = Z/)a;u = wa»l’« + Q;Lab’(/}b
(‘DMQZ}> = ’(Z)a;# = QZJGHLL - qzjbgp‘ba7
so D, = 9, (¥psi as we should have for a scalar.
Now 1) is a vector, so

Dpuy®y = 8,(07 ") +w,” g7
= G0 = PG+ N (Yo + V)
0 w0, " = — [, 7] . The solution is Q. = iw,*, (0,7) ',
s0 w, gy = =1 [Qu, 4] . The solution is Q" = jw,%5 (Ua )a , for
Q a _ i %) a
[ mU, Y ] - Zwu [0757'7 ]
1
= w7 |05 — 5]
1 (o7 1 o
3% " Ewuw T =w, g
Now we have three kinds of covariant derivatives:
Au:p =T Vgu
Du:au+AM #ﬂ:wyﬁ
Apab = (W) g
And of course each generates an R, = [D,,D,], with (R,,)" = R’
(Ru)"s and (Ry,)", all different matrices. But all of these matrices are
representations of the Lorentz group, or rather, of generators of the Lorentz
group. We may write the six generators as L; and write

D, =8, +A,L

ouv

where L; is viewed as an abstract group generator. The R,,’s are all essen-
tially the same, for whatever the representation, the commutators of the L;’s
are fixed by the structure of the group, [L;, L;] = fijkLk. Thus

M = AMZ:RV(Li)Vp
w5 = ASRr(Li)%
Quab = ARs(Li)",
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but as they are all representations, [R(L;), R(L;] = fiij(L — k).

We see that the covariant derivative is a description of how to do Lorentz
transformationa while doing parallel transport. This is just as in a Yang-Mills
theory, where the group is the Lorentz group. Thus it is a gauge theory.

One way of viewing a gauge theory, where fields depend not only on z#
but also on some arbitrary choice of coordinates in the group space, is to
treat the fields as functions of = and the choice of coordinates. We therefore
have, say, 1¥(z, T), where T represents a choice of coordinates. Let T¢ be a
given one, then all the others are given by ¢Tg, where g is the local symmetry
group which relates all acceptible choices of coordinates. v, however, is not
an arbitrary function of T — it transforms in a definite way — according to
a specific representation 1(x, gYo) = R(g)¢(z, To).

The space of (z,g) on whih ¢ depends is called a fiber bundle. The
functions on this bundle which transform appropriately are, of course, much
more limited than the general functions on this extended manifold. In
fact, if for each z* there is some g(z*) for which one specifies the func-
tion ¢ (x#, g(x*)), then 1) is determined everywhere. Such a cross section of
the bundle o := (z*, g(z*)) cannot be chosen in a special manner, so that
same physics is described by another cross section o/ = (a#, ¢'(x*)) where
g'(z") = Q(a")g(x). The field 1 is reduced in one case to

P(a) = (", g(zt))
while in the other to
Y(at) = p(at, g' (") = R(Q(zH))p ().

The covariant derivative D, = 9, + A/ (z*,g)L; also has specified values
Aﬂ = AHiLi,

Au(ac”) ono Dy =0,+R(A)Y
A/u(:lr“) ono' D=0, +R(A,)

with Dyl = (9 + R(AL)) RIQY = R() (9, + R(A,))
or R(A,)=R(Q)R(AIR(Q)
If the representation is faithful,

A = QA0 — (3,0 07"
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specifies how gauge transformations proceed. It is, however, more transpar-
ent to write
D; =QD, 0!
which is equivalent as 9,,u(QQ~!) = 0.
The usual formulation of gravity, in terms of R* . obscures this Lorentz
group gauge invariance because

R*,, = (wa>aﬁ v,

is invariant under I Lorentz transformations.

Although the vierbein formalism permits us to cast gravity in a Yang-
Mills type of formulation, the fact that the group is connected to space-time
makes it different. In Yang-Mills, the Lagrangian density

LY F,

which is not the action for gravity. This is because in addition to the connec-
tion w,”; (which is analogous to A!,) th vierbeins must enter into the action.
It is

S = / d'x (= det(V) Ryuas VoI V™.

Back in the Dirac Equation, we can now write
L=~ (Do —m)¢
where D, = V_#D,. We may write
Dy =V, "0, + wa, wo =V, Fw,.

This anoholonomic covariant derivative has some interesting algebraic prop-
erties. Think of the fiber bundle as a 10 dimensional manifold, and the cross
section as a four dimensional subsurface. A general change in ¢ generated
by

Q:=0"0, + O'L;

can generate a new covariant derivative
I —1
D, =QD, Q.

This corresponds to both a Lorentz gauge tranformation Q'L; and a general
coordinate transformation z# — z# 4+ QF.
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The commutator of D’s here is

[Da, Dg) = 2T,5" Dy + RL5L;.

«

In more general theories T is called the torsion. In general relativity 7" = 0,
which imposes the condition which gives w in terms of 0’s and V'’s.
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0.22 Quantized Field Theory

To write a quantized field theory, the basic ingredient normally is an ac-
tion, the spacetime integral of a Lagrangian density. We treat the fields as
operators.

Nearly all real results in field theory come from perturbation theory. The
vacuum state is assumed to be nearly a simple state, and the actual fields
are expanded about that simple state.

Whether this method is applicable to gravity is rather controversial, but
we will outline it. we take as our “vacuum” flat space, and expand the metric
(or, if we wish to include fermions, the vierbein) about its flat space value.
We restore Newton’s constant G for clarity

g
L= _1g£GR + ﬁmatter-

Define k = V167G, g4 = N + Khy. We use kh to give h the appropriate
units for a boson field, with dimension [h] = (L™!) in units with h = ¢ =1,
but G # 1.

k=115x10""?cm

1
Fuup = §I€

(h s+ by, = By, #) + O()

where indices on h are raised with n. Expanding the Lagrangian in powers
of k, we get

a kinetic energy term of O(k°) in h?,

couplings of thre or more h’s with powers of k. The Lagrangian contains
arbitrary orders in i due to the \/g. Each such term corresponds to a possible
vertex in a Feynman diagram, which itself represents a term in the expansion
of €/" evaluated between given initial and final states.

As you know, when you evaluate beyond the lowest order in perturbation
theory, all field theories give divergent integrals, infinities in the evaluation of
the amplitudes. It is possible to enumerate th possible operator forms which
are multiplied by these divergent integrals just by dimensional analysis. For
the action is dimensionless (or we couldn’t exponentiate it). thus £ has units
of L=*. Consider a theory such as ¢*, with
Ay

1 1
— 242
L 28 $0,.0 5™ 1) 1
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From the first term we see that, as [0,] = L™, we have [¢] = L™', and so
[m? = L2 and [\] = L°.

In expanding the amplitude, we get extra terms of dimension 4. For
example, divergent loop graphs may give

(5] 2

which integrals are quadratically divergent and logarithmically divergent re-
spectively. The only possible operators to multiply these by are

for quadratic divergence: ¢?

for logarithmic divergence: 9,¢0"¢, m?¢?* and ¢*.

All of the possible divergent forms are the same as objects already in the
original Lagrangian, and can be taken care of by “renormalizing” the mass,
coupling constant, and the strength of the kinetic energy term (the last called
wave function renormalization).

For gravitation the situation is different. The coupling constant here is
k, which has dimension of length rather than being dimensionless. Therefore
loop diagrams can generate terms of the form x? (9,hd,hd"hd”h) etc., which
are not contained in the original Lagrangian. Furthermore, as we go higher in
orders of k we generate infinitely many such terms, each in general diverging,
adn so we might expect to have to specify an infinite nubmer of arbitrary
renormalization constants to get rid of these infinities.

This very unpleasant circumstnce is known as nonrenormalizablity.
Green’s functions calculated to higher orders develop new types of infinities
which must be subtracted out with arbitrary parameters to get finite Green’s
functions. This does happen in general relativity, and seems to make it a very
unattractive theory.

It must be noted, however, that actual physical amplitudes are Green’s
functions evaluated on mass shell, that is, the operators ¢ which are left over
after doing all Wick contractions are then describing particles obeying the
classical equations of motion.

Now think of gravity at the one loop level, and let us write the operators
which might diverge as tensors. Then to k2R is added a scalar of dimension
L™, 50 to order x° we may have

R?, R R™, and R, R"™".
But the Gauss Bonnet theorem states
/ \/g (R/Jypo'RHVpU _ 4RmuyRmuV + R?) =0.
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[This can be proven by writing R,lphauv3 = [D,, D,]|*4, using the Jacobi or
Bianchii identities after integrating by parts.]

Thus any infinity multiplying R, - [?*"*’ can be replaced by a combina-
tion of R? and R, R™. Now when we evaluate these operators for fields
which satisfy the classical Einstein equations

R, =G, — %G#ugw =87 (T,W - %gWT#H) ,  R=-T/",
so if T},, vanishes, so to R and R,,, and all the infinite terms in fact give
zero contribution on shell.

Thus at the one loop level, at least, the quantum theory of gravity inter-
acting only with itself gives finite physical scattering amplitudes. But if we
have matter as well, this is not true — one loop amplitudes give infinities,
even on shell in the presence of matter.

That is not much of a consolation. Our real world has eleecentary particles
which are obviously not made up of gravitons, such as electrons, photons,
and quarks, to name a few.

It has been explicitly checked that these possible infinities do in fact exist
in theories of Einstein gravity coupled to

e scalars

e or photons

e or spin 1/2 fermions
e or Yang-Mills

The situation remained like this for many years, with most people believ-
ing the finiteness of pure gravity at one loop level to be of no consequence,
because

e there is matter in the world

e what good is one loop finiteness if the higher loops are not finite. Are
they? There are terms which might be generated in two loops (allowed
by power counting and gauge invariance) which do not vanish on shell.

But then along came supergravity. Supergravity contains a symmetry
group far bigger than the Lorentz group. In fact, it treats as essentially the
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same fermions and bosons. Just as in SU(2) there are group generators L;
which rotate a 7 into a 7%, in supersymmetry there are @);’s which rotate,
for example, quarks into gluons. Thus the ) changes fermions into bosons
and vice versa. The anticommutators of the (Q’s give not only an ordinary
(bose) symmetry operator L; but also a piece proportional to the momentum
generator. This means that the internal symmetry is tied up intimately with
the space-time structure.

When one tries to make a gauge theory with supersymmetry (i.e. one tries
to make supersymmetry a local symmetry, independently variable at every
point in spacetime, just as for Yang-Mills or a photon’s gauge invariance)
one discovers that we are immediately forced into including a gauge field for
the momentum operator. This is essentially the vierbein, and we are forced
to include gravity as part of the gauge field. For greater definiteness I will
first discuss a particular supersymmetry called O(4).

There are four @;’s, each of which is a 4 component real Dirac spinor (a
Majorana spinor). The theory contains a graviton with helicity 2. Applying
each of the 4 Q);’s we lower the helicity and get four helicity 3/2 massless
objects ;. Applying another @); again, gives us 6 helicity 1 photon-like
objects A;;, antisymmetric in i < j because {Q;, Q;} o< P* + L;;, neither
of which has lower helicity. Continuing we get 4 helicity 1/2 objects and 1
helicity 0 object. The helicity —2 graviton generates a similar series, so we
have a multiplet consisting of

e 1 graviton
e 4 Majorana spin 3/2 massless fields (gravitinos)

e 6 gauge vector particles

4 Majorana spin 1/2 particles
e 2 real scalars.

When we examine the forms of divergences in this theory, we find results
exactly as in general relativity, as if the whole multiplet were a graviton. That
is, the theory is formally nonrenormalizable but the one loop divergences
vanish on mass shell, even in the presence of the helicity # +2 objects in
themultiplet. If we add a “matter” multiplet, with

e 1 helicity 1 particle
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4 helicity 1/2 particles

6 helicity 0 particles

4 helicity -1/2 particles

1 helicity -1 particle

then the one-loop divergences no longer vanish on shell, just as in ordinary
gravity.

Witheut the matter multiplet, one can even show that two-loop diver-
gences cancel on-shell as well! So the situation is improved in two ways:

e Some of what we considered matter may in fact by part of the graviton
multiplet

e Finiteness of the graviton multiplet is good through two loops, at least.

The O(4) theory without a matter multiplet has room for 6 vector mesons
and 4 spinors, We need to include everything, so we need electrons, quarks,
gluons, photons, w*, etc.Remember the quarks come in 3 colors and 3 flavors,
so 4 spinors is clearly not enough.

The largest supergravity theory of this conventional type is O(8), with 8
¢;’s. The reason is that if there were nine, the state

1Q2 - - - Qg |graviton with helicity 2)

would be a nonzero state with helicity —5/2, requiring a massless particle of
spin at least 5/2. General relativity is the minimally complicated theory you
can have for a spin 2 particle (except for one with no interactios) and spin
5/2 seems to be impossible.

What do we have in the O(8) theory?
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Helicity Physical Content SU(3)%
number

2 1 graviton

3/2 8  color triplet with charge —1/3 3713
color antitriplet with charge 1/3 3173
two chargeless singlets 19410

1 28  gluons 80
photon 10
Z (weak neutral boson) 19
lepto-quark gauge bosons 371/3 4 3713 4 31/3 4 31/3
diquark gauge bosons 3%/3 43723

2 x 343 +2x 3713
+ antiparticles

1/2 56 u,d,s, c quarks

electron + positron 1+1-
neutrinos 10 4 109
other stuff 80 4 80 4 ¢l/3 4 g-1/3

Is this enough? Nearly. We've got the gluons, photon, and neutral cur-
rents, but we have missed the W= which mediate ordinary weak interactions.

We have the quarks in 3 colors and 4 flavors, but no bottom or top. Worse
yet, we have no muon. Close but no cigar!

Supergravitymay not be the grand unification Einstein hoped for, but not
everyone has given up. For many years, 1930-1965 relativity was a dried up
field. But now research has been reinvigorated by

e new technology making new tests possible

e new astronomy and cosmology, finding many conditions under which
general relativity becomes important, even dominant.

e new ideas in combining quantum mechanics with general relativity —
eventually there must be a reconciliation.
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